7198 AEzHEU A
713 - A B AR S 1] 9 (9] - e
1= 1= Z =0 o 1=
sl jg ig ﬂ% AFsugel CE Az 20199(A) | 2018d(B) | Z7HA-B)

A 100,738,956 88,525,012 12,213,944
s 100,738,956 88,525,012 12,213,944
froldxF e 95,608,358 84,530,296 11,078,062
AAAFLL L 3,395,069 3,434,932 £A39,863
ALY A7 3} 13,600 15,000 A1,400
A Z R AR ¢ 13,600 15,000 A1,400
1 A T3 uSEFH 13,600 13,600 0

7h A A AT 8,100

1) A=A 2 210—-01 |3,5009 X 300%-% 23] = 2,100

2) x}eFelxtg 210-07 [600,0009 X 4t x 23] = 4,800

3) 98 210-01 {20,000 X 30% x 23]= 1,200

L A TS 4,800

1) 77N 210-01 |200,000¢ X 243]= 4,800

ot A AT 700

1) 7 (b 450

7h 7] 210-06 |100,0009 %37 x 13]= 300

W) 23 210-06 |50,000€ % 3% x 1A 7k= 150

2) A8 210-01 | 10,0009 x 31 X 6| 7k= 180

3) $9g= 210-01 |10,0009 x7&x138]= 70
LA T 27,790 27,790 0
e PE R 3,480 3,480 0
1. IAZEA 3,480 3,480 0

7h W7 ELA 3,480

1) HESFT 210-06 |40,0009) X6 x 23] = 480

2) ZA|5F 210-06 |50,0009 x 67 x 23] = 600

3) AT} 210-06 |40,000¢! X 67 x 28] = 480

4) WAz 210-06 |40,00091 %61 x 23] = 480

5) 2H] 210-04 |8,000¢1 X407 x 23] = 640

6) 7F2ln 210-04 | 3,000 x50 x 23] = 300

7) $LE 210-01 |50,0009 x 5% x 23] = 500
TR 23,070 23,070 0
1. QAHAE) 94 59% 2,580 2,580 0
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Ll ()
n =] e S =]
Zﬁ :t,; f}g 3;3 fg AR E-A 5 AbE ol 20199 (A) | 2018d(B) | Z7(A-B)
7t AR 3 2,580
1) A5k 210-06 |80,000¢ x 37 x 43]= 960
2) 112 210-04 |3,0009 X207 x 43]= 240
3) SJg= 210-01 |20,0009 x 6% x 43]= 480
4) §2]3] 230-02 |15,000¢ x 15 x43]= 900
2. AA9 A3 2,330 2,330 0
7t A9 A 3] 2,330
D e 210-06 |80,00091 x5 x53]= 2,000
2) 893 230-02 | 15,0009 X119 x28]= 330
3. 29 5Hag s} 3,080 3,080 0
7t s A 7R ) 890
1) #A+F 210—06 |80,000¢ % 37 x 23]= 480
2) $oJaxE 210-01 [20,0009 x5F % 23]= 200
3) 893 230-02 |15,0009 x 77 x 23] = 210
v s NtE I ES) 2,190
1) B2} 210-06 |80,000¢! x5 x 23]= 800
92) 7H21n) 210-04 |3,0009 X100 x 23] = 600
3) SJ9¥ 210-01 |20,0009 x20% x 13]= 400
4) 3 9]3] 230-02 | 15,0009 X139 x238]= 390
4, AARJMAAFFH 15,080 15,080 0
7t e W ARJAY TR 9,560
1) A= A2 210-01 |5,0009 x 142%-x 28] = 1,420
2) HESY 210—06 |40,0009 X187 x10%]= 7,200
3) 2] 210-04 |8,0009 %20 x 23]= 320
4) Zr214] 210-04 |3,0009) X 20 x 23| = 120
5) $98E 210-01 |20,0009 X5% x53|= 500
T oW AJAAFFH 5,520
1) AESY 210-06 [40,0009 % 107 x 103]= 4,000
2) 2n] 210-04 |8,00091x10% x 133]= 1,040
3) S9= 210-01 |20,0009 x 12% x23]= 480
53] WAMA S-S 1,240 1,240 0
1. &3 (A ALY 1,240 1,240 0
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e Rt e SR P RS (k9] )
H = =N S H
. j} ?j E{g jg Ape el == EE 20199(A) | 20189 (B) | ZZHA-B)
7h =3 () AR 1,240
1) AESY 210-06 |40,0009 x 38 x43]= 480
2) $98=% 210-01 |20,0009 X 10% x23]= 400
3) ¥2)3 230-02 |15,00091 x 247 x 13]= 360
AFF-L AR 1,560 1,560 0
A 4B 1,560 1,560 0
L AT a3 A4 1,560 1,560 0
7). Q1AkS) 913 1,560
1) ZFA5g 210-06 |80,000¢1 X278 X 63]= 960
2) §2]3] 230-02 |15,000¢ X8 x53]= 600
T—_Lix]_q_]_}\]_y&a] 2,255 2,255 0
E.i;q.ql,\].j&;q 2,255 2,255 0
1. Z5F53 A e 745 745 0
7h W52 A1 2 3] 745
1) 5o 210—-06 |80,0009 x 1% x 33]= 240
2) Loe= 210-01 |20,0009 x5% % 13]= 100
3) g3 230-02 | 15,0009 X974 x 33| = 405
2. IS FFALIRAS 1510 1510 0
7). WA AN el 4 1510
1) 2p=A =+ 210-01 [6,420€1 X 100%-x13]= 642
2) 918 210—01 |14,0009 X 31 X 4A]7k= 168
3) A (L) 500
7h 718 210-06 |160,000¢ x 19 x23]= 320
) =3 210-06 |90,000¢ X 17 X 2] k= 180
4) +98F 210-01 |20,0009 X 5% x 23] = 200
TR Y B A7) A 3,349,864 3,388,327 A38,463
ALY B2 A Y 3,349,864 3,388,327 38,463
1. AZF53L9 4,000 4,000 0
7} A= T 3= 240—-01 |1,000,000¢ x4&l= 4,000
2. FRAZAIAH| A Y 3,345,864 3,384,327 A38,463
7h AR AR R A 3,345,864
D 725 110-04 |1,642,71091x 929 x 12¢9= 1,813,552
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7187 AR B Ak S A 9 (h9] )

1= 1=} ] =A o 1=}
Sl j}% 3;3 jg PRSIV B Az ] 20199 (A) | 20184(®B) | ZFA-B)

2) A7 2EI A 110-04 |382,9609 x92% x 12¥= 422,784

3) 71&ETH 110-04 |79,4709 x72% x12¢¥= 68,660

4) APAshe| R 24y 110-04 |396,3009 x 8% X 43%7]|= 12,682

5) WEHZH| 110-04 {60,000 x92% x 129 = 66,240

6) =2H]| 110-04 |130,000€1 %927 x 129= 143,520

7) A5 110-04 |1,535,300€1 X 927 = 141,248

8) AT 110-04 |500,000¢1 % 927 x 23] = 92,000

9) A7) 4ol 110-04 |300,0009 X 927 x 23] = 55,200

10) 9= E )n) 240-02 |400,0009 x 929 = 36,800

11) &+ 320—12 |2,267,3809 %92 = 208,600

12) =ulol = 320-12 |110,2809x92% x12¢9= 121,748

13) A7 R 320-12 [79,15091x 92 x12¥= 87,388

14) =137 00kR ¥ 320—12 |5,8409x92% x12¥= 6,450

15) 18Ry 320-12 |36,76091x92W x129= 40,583

16) AHA R 320-12 |25,7309 %929 x129= 28,409
S&8E4 g 10,177,786 5,753,207
TEAR N 671,998 783,333
T B X 13,613 13,903
L. 25 HAYLFAF 6,250 6,120

7h 5 Rd AT 3,750

1) A=A = 210-01 |5,0009 X 80%-x 13]= 400

2) Z3Atrd (AR 210-06 |100,000¢! x4 x 35]= 1,200

3) 7+A1H] 210-04 |3,000€ X100 x 33]= 900

4) 98= 210-01 |20,0009) X 5% x53]= 500

5) 82]3 230-02 |15,000¢ x 25T x 23] = 750

L A7 =RAse 410

1) 7 (b 110

7h 715 210-06 | 70,0009 X 17 x 13]= 70

W) =3 210-06 |40,000€ X 17 x 1A]7k= 40

2) AN 210-04 |3,00099x1007 x13]= 300

= RTAS R Rl A 2,090

1) A" 210-06 |70,0009 X207 x13]= 1,400
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AR P57 9
Al Abei e B Az 2019 (A) 20184 (B)
/\]_cg 1 l = =S il yul

9) 9= 210-01 |20,0009x15% x 13]= 300

3) 393 230-02 |15,0009 X134 x23]= 390
2. AR LIAF 7.363 7,783

7}, ws AR A 399

D 7 (4R 150

7p 7%= 210-06 |100,0004¢ x 1= 100

W) =3 210-06 |50,0009 x 17 x 1A 3t= 50

2) g 210-01 | 14,0009 x 3vll X 2A]7k= 84

3) 23 230-02 |15,0009x11%= 165

o mgag Ay 484

1) AME 2z 210-06 |70,000¢! %37 x23]= 420

2) A1) 210-04 |8,0009) % 47 X 23]= 64

o} AFS| EE Q 901 71H) 310-01 |540,0009x12¢¥= 6,480
THAE LR 35,385 35,430
1. AL8| 7] o map A Bk 35,385 85,430

7k AF3 A o g A R 35,385

1) A=A 210-01 |4,650€x3,100% % 23]= 28,830

2) A4 210-06 [40,000¢ X124 x123]= 5,760

3) AH] 210-04 |8,0009 %15 x53]= 600

4) ZFAH) 210-04 |3,0009 %158 x23]= 90

5) 909X 210-01 |10,500¢ 10 X 15]= 105
3} WS- 123,000 133,000
1. d<a8A ¢ 120,000 130,000

7h A A @ AN E R 90,000

1) A 41,120

7H Z3AAH) (AP 210-06 [448,0009 x5 x12¥= 26,880

) AR (s ) 210-06 [210,00090 %47 x129= 10,080

th ZFA] (g8l s 210-06 |32,0009 x5 x 26| 7k= 4,160

2) $:9¢ 12,340

7h A 600

(1) 71& 210-06 [40,000¢ X107 x13]= 400

(2) %% 210-06 | 20,0009 X 109 x 1 A]7F= 200
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AFduie S-AE Y 20199 (A)

P 7HAIH] 210-04 |3,00091 %70 x245]= 5,040
th obr)SRAin) 210-09 |50,000¢1 X 10% x 135]= 200
2h) eb7)7-alH) 430—01 |200,0009l X 20% < 13]= 4,000
o)) $ALE 210-01 |20,000¢1 X 10% x83]= 1,600
Hp) 9] 3] 230-02 |15,000¢1 x 207 x 23] = 600
3) Wtz 25,100
7 2k 310-01 |140,0009 x 15 x 49 = 8,400
) 21n) 310-01 [8,000€1x70% x143]= 7,840
oh 7+24] 310-01 |3,0009 %70 x 63]= 1,260
2p) x=Folate 210-07 |550,0009 x 2t x 43]= 4,400
nh) Al QRbE 210-07 |200,0009 %64 x 13]= 1,200
vh) AT 210-01 |5,00091x70% x43]= 1,400
AP SolgE 210-01 |20,0009) X 15% x238]= 600
4) A2 11,440
b EREA R 210-01 |5,000€ X460+ % 138]= 2,300
wh) A 310-01 |8,0009x70% x43]= 2,240
th 71244 310-01 |3,0009 X709 x13]= 210
2p) xolate 210-07 |150,0009 X 2t] x 33]= 900
np) AjA A} 210-07 [1,510,0009x 12 x138]= 1,510
uh) A= 210-06 |2,000,000¢! % 15]= 2,000
AP AR el 310-01 |35,00091%8% x 13]= 280
o) L= 210-01 | 20,0009 % 25% x 43]= 2,000
. AP Ad ot d 30,000
D) A 21,240
7h AFE o)k 210-06 |330,0009x 1% x12¢8= 3,960
P otk 210-06 |240,0009 %67 x 129 = 17,280
2) 953 700
7h FZelol 210-01 |1,2009%1,300% x 1%]= 1,560
W A (24) 210-01 |1,5009) X 200%-x 13]= 300
th) E)AQl 210-01 |100€1%3,000%x 13]= 300
2} §Z=uk 210-01 |100,00091 %22} x 15]= 200
nh) AH) 310-01 |8,00091 %65 x13]= 520
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(9] - )
H H = =N S H
il j}g 3;3 jg Ayl =R A 20199(A) | 20184(B) | FZ(A-B)
v 7HAA) 310-01 |3,000¥x60% x23]= 360
AH AdA A= 210-07 |1,100,00091 %14 x13]= 1,100
o) AU A}E 210-01 |1,000,0009 % 14]= 1,000
Z}) Harp)glokw 419 H) 210-01 |1,000,00091x13]= 1,000
2p) &k 210-15 |1,000,000¢ x 13]= 1,000
7hH zw ) 210-15 |1,000,0009x13]= 1,000
EP) AR o1 310-01 |60,0009 7% x13]= 420
2. AU K EFA Y 3,000 3,000 0
7} o R LR 3,000
1) An) 210-04 |8,0009 X457 x 23] = 720
2) A7 210-07 |500,000€ x 1t} x 23] = 1,000
3) A3 sk5n) 210-12 |10,0009! X 45 x 23] = 900
4) $99= 210-01 |20,0009 x19%x13]= 380
ENY SR 500,000 601,000 A101,000
1. A7 -9x¢ 500,000 601,000 £101,000
7y HAREET >00.000
1) Ao 35 Bl A 7 154,600
7h A ESTEAGEY 5,000
(1) ZA5 210-06 |80,000¢9 x4 x53]= 1,600
(2) 211 210-04 |8,000¢ x20% x 33]= 480
(3) 7H4H] 210-04 |3,0009x20% x53]= 300
(4) 2=zt 210-07 |700,0009 % 14} x 13]= 700
(5) =A< 210-01 |17,00091 %207 x33]= 1,020
6) 3 230-02 | 15,0009 X207 x33]= 900
wh Hashd e 88,000
(1) A&FL9x4d 240-01 |1,000,00091 X 88% x 13]= 88,000
th mAgEolel ¢ 61,600
(1) ZArd (R 210-06 |100,0004€ X 5% x 23] = 1,000
(2) 7F211) 210-04 |3,00091 X100 x23]= 600
(3) A¥ZolF R Y 240-01 |1,000,000¢ X 608 x 18] = 60,000
2) A WEAX) BEA Y 117,900
R e ! 61,800

e} e} e}
oo - SRSt Y LY
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¥ B A} 37 8-2] 9] %
7;%‘%1 ﬁa}:n 5] 2% (9] - )
] A =]
ol Il 3;3 jg Al - e 20199(A) | 2018d(B) | Z%(A-B)
(1) A (b 210—06 |100,000¢1 % 5% x 23] = 1,000
(2) 7HAIN) 210-04 |3,0009x100% x23]= 600
(3) A3 AL 240-01 |600,0009 x88% x13]= 52,800
(4) X232 240-01 |3,700,0009 x 1§ x238]= 7,400
W elelegEn ¢l 6.100
(1) &A=A12 210-01 |10,00091 X 204 % 28]= 400
(2) A (4R 210-06 |100,000¢1 % 5% x 43]= 2,000
(3) A4 210-04 |8,0009¥ 100" x23]= 1,600
(4) E=AF9) 210-01 |18,000¢1 1007 x 13]= 1,800
(5) &8 210-01 |50,0009 X 6% x13]= 300
th FadAgEo] A4 50,000
(1) YAREZole]xd 240-01 |1,000,000€ X50% x 18] = 50,000
3) AL A A 54,900
7hH AAolztd n]-&-< 19,400
(1) A=A = 210-01 [20,000¢¥ X 10%-x103]= 2,000
(2) dA4ut 210-01 [100,00091 % 224 x 103]= 2,000
(3) AT (dHh) 14,000
p 71% 210—06 |100,000¢ x 409 x33]= 12,000
) =7 210-06 |50,000¢ x 20 x 2A]7k= 2,000
(4) ZHAN) 210-04 |3,0009 X608 x73]= 1,260
(5) L98F 210-01 |20,0009 X7%Fx13]= 140
) oA S 2 T ok 6,700
(1) EREAZ 210-01 |5,0009¥ X 100%-x23]= 1,000
(2) Za =AY 240-01 |400,0009 x 109 = 4,000
(3) A4 310-01 |200,0009 % 6% x13]= 1,200
(4) &98= 210-01 |50,00091 x10% x 13]= 500
th A S w53 A 17,900
(1) ZAS9(gRb 210-06 |100,000¢1 % 30 x 15]= 3,000
(2) 7F2IN) 210-04 |3,0009 %45 x203|= 2,700
(3) 2zt 210-07 [400,000¢1 % 30t x 15]= 12,000
(4) $99= 210-01 |50,0009 x 4% x 13]= 200
2} FAFAIEE 2o 10,900
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s
5 A =
5 2] At e E—ilE A=l 20194 (A) 20184 (B) (A-B)
1) AF=A2} 210-01 |5,000€ X 100%-% 33]= 1,500
(2) A (dRh 210—06 |100,0009 x5 x43]= 2,000
(3) =7 240-01 |200,0009 x 208 = 4,000
(4) 73<4n) 310-01 [200,000¢ X648 x23]= 2,400
5) THEF 210-01 [50,0009] X 20% % 18]= 1,000
4) =S AY 172,600
7h g sAlH E A A Y 140,000
(1) gAHEZ st yA]Y 620-03 |20,000,000¢ X 71 x13]= 140,000
W) FadEshedxd 24,000
(1) A=A4= 210-01 |5,0009 X 200%-x 38]= 3,000
(2) E3uAxd 240-01 [1,000,0009 X158 x13]= 15,000
(3) 7A<dn] 310-01 [200,0009 x10€ X 23]= 4,000
(4) AALEZ 210-01 |100,0009 X 20% x 13]= 2,000
oh) AAAAR AR 8,600
(1) AF=A|2} 210-01 |5,000€ X 100%-% 23] = 1,000
(2) A (D) 210-06 |100,000¢1 % 3% x 23] = 600
(3) AdAxE 210-07 |1,000,0009x 124 x23]= 2,000
(4) FIAFEE 210-01 |50,000¢€ X50% x 23]= 5,000
41,406 47,428 26,022
aAFANAA A 9,236 9,258 ~22
1. 4G A 9,236 9,258 n22
7k AAFAN A AT 3,366
1) A (dEh 210-06 | 100,000 x5 x 28] = 1,000
2) 48 210—01 |14,000€ X 31 x 23A|7F= 966
3) Z+2H] 210-04 |3,00091x 1009 x33]= 900
1) 9o9E 210-01 |20,0009 X5% x53|= 500
L W AT AN 2 - 870
1) +98% 210-01 |20,0009 x15% x13]= 300
2) 2] 3 230—-02 [15,00091 x 197 x 28] = 570
o AT AN oY 5,000
1) 25stw 620—03 |500,000¢ X101 = 5,000
ia= TN AR 32,170 38,170 26,000
ZFe0TF — -5 AY - Al - S dA 4 9/68




()
B =] =N S =]
sl ?}2 3;3 jg Ape el e -1 N 20199(A) | 20189 (B) | Z7(A-B)

1. SHARA| ¢ 4,170 4,170 0

7t e IR 764

1) A (dEh 110

7h 75 210-06 |70,00091 %1% x15]= &

W) =3 210-06 |40,000€ % 1% X 1A k= 40

2) g 210-01 |14,0009 x 37 x 24 7k= 84

3) 99X 210-01 |20,000€ X 9% x15]= 180

4) 893 230-02 | 15,0009 X267 x13]= 390

v 25 EAlgA A 3,406

D ZA (4 210-06 |100,0009) x 27 X 48] = 800

2) 91%n 210-01 | 14,0009 x 31| X 12A]7k= 504

3) 112H] 210-04 |3,0009x81% x43]= 972

4) g9 210-01 [20,0009 x5%F x53]= 500

5) 893 230-02 |15,0009 % 147 x33]= 630
2. =9 TSAY 28,000 34,000 26,000

7t e wS e 28,000

1) A&A2 210-01 |6,2509 x100%-x43]= 2,500

2) 7 (LD 210-06 |160,0009 x 37 x 28] = 960

3) AESY 210-06 |40,0009) x4 x 23] = 320

4) An 310-01 |8,00091x 1007 x23]= 1,600

5) z}ekela}w 210-07 |300,000¢ x 2t x 23] = 1,200

6) T2 1AM AIAX A (58 w) 620—03 |9,720,0009 x 237.= 19,440

7) =9 EE 210—01 |20,0009 X 18% x53]= 1,800

8) ¥ 2|3 230—02 |15,0009 x 47 x 33]= 180
FaR LS F 29,484 32,284 22,800
AR AAEFAd 29,484 32,284 22,800
1. A4 Q7st 28,244 30,544 22,300

7F 2T dAAR s AT 5,640

1) ZAFra (YR 210-06 100,000l % 27 x 23] = 400

2) 91% 210-01 |14,0009 X 3ull X 8A|7}= 336

3) 7F21n) 210-04 |3,0009 X80 x 23] = 480

1) $94FE 210-01 |26,0009 x 4% x13]= 104
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W ARt e R A S 9 (9] - e
n =N S H
. ?}g 3;3 jg Ape el =on= Aol 20199€(A) | 20184 (B) | =X(A-B)
5) WA FEAT 1,000
7hH A1) 210-04 [8,000¢ x50 x13]= 400
W) = ats 210-07 |600,0009 x 1t} x 18]= 600
6) W FEAT 3,320
7h 2] 210—04 [8,0009 X607 x43]= 1,920
W) 2l xim 210-07 |600,0009 x 2] x 18]= 1,200
) 94 210—01 |20,0009 X 10%Fx13]= 200
U 25 rdsd oty 8,000
1) Eola] <ol 620-03 |1,000,0009 % 831 = 8,000
o TS ALY 700
1) AXE S 210-06 |70,00091 %10 x 18]= 700
ot AAHEAFA A 2404
1) A (YR 210-06 | 70,0009 x5 x 28] = 700
2) 918 210-01 [14,0009 X 3ufl x 10A17k= 420
3) 2] 210-04 |8,00091x75% x 13]= 600
1) $34FE 210-01 |18,0009 x 8% x13]= 144
5) 893 230-02 | 15,0009 x 18 x 28] = 540
"t T dsotE Y 7,800
1) Zolg] e 620—03 |780,000¢ x 10" = 7,800
SIS R A B R R 3,700
1) =242 210-01 |1,600€¢ X 100%%23]= 320
2) A" TT 210-06 |70,0009 x15% x23]= 2,100
3) 7+A1H] 210-04 |3,0009 X207 X53]= 300
4) 98= 210-01 |50,0009) X 5% x 23] = 500
5) 9]3 230-02 | 15,0009 %327 x 18]= 480
2. ZYLATZ AR 1,240 1,240 0
b AR LR R R o 1,240
1) $98% 210-01 |20,000€9 X 10% x23]= 400
2) 2] 3 230-02 |15,00091 %14 x438]= 840
fFoln &% 33,063 32,058 1,005
ol Sx]d 33,063 32,058 1,005
1 4958342 IA AN LR F YA = 15,835 14,830 1,005
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e
AR S -4 EU e 20194 (A) 20184 (B) (A-B)

7k wAASA 9 11.831
1) A=A 210-01 |6,530€1 X 100%x53]= 3,265
2) A (LR 2,380
71 7] 210-06 | 160,000 x 78 x 13]= 1120
W =3 210-06 90,0009 X 7% X 2A]7k= 1,260
3) dug 210-01 |14,000¢ X3} x 164]3k= 672
4) 2n] 210-04 |8,0009 %1589 x13]= 1,264
5) 7H2H) 210-04 |3,0009 %1009 x58]= 1,500
6) At A= 210-07 |600,0009 x 3t] x 15]= 1,800
7) AHF-EE 210-01 | 15,0009 X 5% x 23] = 150
8) $9a= 210-01 |50,0009) X 2% X 53] = 500
9) ¥93] 230-02 |15,0009l %201 x 13]= 300
U ngdoddEolz] x| Y 240-01 |300,0009 X 10% x 18]= 3,000
o}, X Qglske s 1004
1) A (YR 210-06 100,000 % 17 x 38| = 300
2) Z3AFAn]) An) 210-06 |40,0009 x 17 x 33]= 120
3) Ydue 210-01 |14,000€ X 3uf x 4A|3}= 168
4) 7F2H] 210-04 |3,0009 %100 x18]= 300
5) $94= 210-01 |29,0009 x4Fx13]= 116

A LS ETHUSTHE WS 1,228 1,228 0
7h SRS 1,228
D) ZA (4R 210-06 |160,0004€x 2% X 13]= 320
2) du= 210-01 |14,0009 x 37} x 3| 7k= 126
3) AR 210-07 |422,0009 %14 x 13]= 422
4) $98E 210-01 |20,00091 X18% x 13]= 360

3. A AEAA Y 16,000 16,000 0
7k A 9EHAA € 16,000
1) 424 620—03 |16,000,000¢ x 17]¢l= 16,000

ELFgsiE 430,554 447,832 217,278

Exgsdd 1,705 1,705 0

s T ERE 1,705 1,705 0
7}, A 210—-06 |80,000¢ X 2% x73]= 1,120
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AR S L= AHEU S 20194 (A)
1}, 393 230—02 | 15,0009 x 139 x38]= 585
N ] 386,782
1. E5uSAAAEEF 386,782
7k A ST S A 234,022
1) ZHr}el ] 82,890
7h 7185 110-04 |2,449,4909 x 29 x 12¢ = 58,788
) 3244 110-04 |130,00091x 2% x12¢¥= 3,120
o WAZ 7] 110-04 |500,0009 x 21 X 23] = 2,000
Zh) Az 110-04 |71,4709 x 2% x229) = 3,145
b AFEETG 110-04 |1,209,6209 x 28 = 2,420
u) ghEa B ) 240-02 | 400,000 x 27 = 800
AP E 2 320-12 |2,894,6809 x 21 = 5,790
oh) A 320—12 |33,600,0009 % 4.5% % 2= 3,024
2 A7 3 320-12 |33,600,0009 x3.12% X 2% = 2,097
2 E1A7| QekH & 320-12 [1,155,0009X7.38% %2 = 171
7H 1859 320-12 |33,600,00091 X1.5% % 2= 1,008
EP) A B3 320—-12 |33,600,000€X0.783% x 2= 527
2) Eila]ljl%ooﬂ 117,632
7h Aeg 71 10,000
(1) AGH 7= AAA] -9 210-01 |100,00091 X 10%= 1,000
(2) Ag 7FEA] 210-01 |100,000¢ x 9071 = 9,000
W) EFusgsAd 70,960
(1) A (Yyh 210-06 |70,0009 X577 x13]= 40,390
(2) 2n] 310-01 |8,000¢1 x50 x 13]= 400
(3) 7+2n) 310-01 |3,000€ x990 x 18]= 2,970
(4) 22 IS F A=A 210-01 |200,0009 X 1363]= 27,200
) STuSAs 9,202
(1) A=A = 210-01 [4,6409x100%x13]= 464
(2) A (Y 210-06 | 70,0009 X 70 x 18]= 4,900
(3) 7+21n) 310-01 |3,000¢ X346 x 138]= 1,038
(4) E5AGIH 783 210-01 |150,000¢ x4 X 15]= 600
(5) ZE2 1S A FH) 210-01 {200,000 x113]= 2,200
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71987 - AR E At S A 4 (9] - )
i=] =] = =0 o H
il j}z 3;3 jg TSRS % A2 20199 (A) | 20184®B) | FH(A-B)
2h) A H| X 24,470
(1) =A=A)2F 210-01 |10,0009 X954 % 18]= 950
(2) A (b 210-06 |70,0009 X127 X 13]= 8,890
(3) L9549 210-06 | 30,0009 x 207 x 18]= 600
(4) An] 310-01 |8,0009x110% x13]= 880
(5) ZHAIN) 310-01 |3,0009¥ %450 x13]= 1,350
(6) AFFA== 210-07 |500,000¢ x 3t} x 18]= 1,500
(7) #&@n) 210-01 |10,000€ x 3507 x 18] = 3,500
(8) ZEZ1AFE A EH]| 210-01 |200,00091%343]= 6,800
nh B TFEEEE 210-01 |5,0009x3007] x28]= 3,000
3) 7123 21,810
7hH A5 S5Ax= 210-02 |200,0009 x 129 = 2,400
W Ao+ 210-02 |200,0009 x 6= 1,200
th QeI 210-02 |300,00091 % 64 = 1,800
Zh d719F 210-02 |950,000¢1 x64= 5,700
nh) strE s 210-02 |65,0009 x68= 390
Hp) A B F RSN 210-09 |500,000¢ x 43]= 2,000
AP &EFg-oln) 210-13 |360,000¢ x129= 4,320
oh) AFEARFETH] 210-01 |100,000¢ X 10% x 23] = 2,000
2 984E 210-01 |100,0009 x5% x48]= 2,000
4) ofn] 7,900
7 T 220-01 |20,0009 x4 x638]= 5,060
W = 220-01 |40,0009 x4 x168]= 2,560
o = 220-01 |70,0009 x 4% x13]= 280
5) WSEAAN) 220-05 |100,000¢ x53]= 500
6) AlEE- Bl g 7H <] 490
7h 24 210-04 |8,000¢x10% x53]= 400
) 7+2m) 210-04 |3,0009x 107 x 33 = 90
7) AHERA A 2,800
7h AFE 430-01 |1,150,000¢ x 2t}= 2,300
) 2UH 430-01 |250,000¢ x 2t = 500
22 A EF A A4 152,760
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s RSk e St STAS P Rk (] - 24)
H =] ] [°) H
ol I 3;3 jg PRSIV B Az ] 20199 (A) | 20184(®B) | ZFA-B)
1) a1 19,190
71 e17AH] 110-03 |1,090,0009 X 12¢ x 1% = 13,080
h FAH) 110-03 |130,000€ x 1 x12¥= 1,560
th WA F 7 110-03 |500,000¢ x 11§ x 23]= 1,000
b Azt 110-03 |1,086,0009 x 1= 1,086
n}) 2] 24002 |400,00091 x 1= 400
nh g2+ 320-05 |1,285,00091x 1= 1,285
AP A7 E 320-05 |14,400,0009 % 3.12%= 450
oh) 1EREF 32005 |14,400,0009 X 1.5%= 216
Zp) AR .S 32005 |14,400,00091 x0.783%= 113
2) L7139 95,060
7h A A= 82,600
(1) A4 210-06 |70,0009 X80 x63]= 33,600
(2) 72N 310-01 |3,00091x250% X 63]= 4,500
(3) &N 210-01 |17,8009 %2509 X 103]= 44,500
W) AR T 2,840
(1) ZAtre(dub 210-06 |70,0009 x5 x 28] = 700
(2) A4 210-04 |8,0009 x50 x13]= 400
(3) 7H2IN) 210-04 |3,0009 %807 x13]= 240
(4) A& 210-01 [10,0009 x50 x 13]= 500
(5) A=A 210-01 [10,00091 X507 x 23] = 1,000
oh) AR Y 4,820
(1) A (dRh 210-06 | 70,0009 x5 x 38]= 1,050
(2) 2n] 310-01 |8,000¢1 70 x 13]= 560
(3) 7F2IN) 310-01 |3,0009 %70 x13]= 210
(4) A&@n) 210-01 |10,000¢1 x50 x 23] = 1,000
(5) AEH 210-01 [10,000¢ x50 x43]= 2,000
b 71 BA A AN 210-01 |100,00091%x1038]= 1,000
mh el@dabel A 3,800
(1) <u) 210-04 |50,0009 X124 x 2= 1,200
(2) An) 210-04 |8,00091x12% x63]= 576
(3) 7H4H) 210-04 |3,0009 X127 x 43]= 144
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s
e AFdul 22 AEL 20199 (A) | 20184 (B) (A-B)
AH AF

(4) AFA= 210—-07 |700,000¢] X 1t x 28] = 1,400

(5) AR H] 210-01 |20,0009 X129 x 23]= 480

3) 719 19,290

7h A 210-06 | 40,0009 %1 x53]= 200

W) Ao 210—02 |200,0009 x69= 1,200

h JIHYEAI L 210-02 |300,0009 x 6L = 1,800

) A7 210—02 ]950,000¢ x 64 = 5,700

up) At o 210-02 |65,0009 x69= 390

vh) A EAT R 210-09 |500,0009 x 103]= 5,000

AP S98F 210—01 |20,0009 X 25% x10%]= 5,000

4) ol I A 210-10 |700,0009)x 129= 8,400

5) 1] 7,800

7hH 220—01 |20,0009 x4™ x583]= 4,680

) =y 220—01 |40,0009 x4™ x163]= 2,560

) T 220-01 |70,0009 x4 x 28] = 560

6) AE>YH ] 720

7h) A1) 210-04 |8,0009 X109 x53]= 400

) $98% 210-01 |20,000¢ 8% x23]= 320

7) AR-EA A 2,300

7h AEE 430-01 |1,150,0009) x 2tj= 2,300
ELgSEARY 42,067 39,648 2,419
1. A FAREY 42,067 39,648 2,419

7h ST S A Y AE 42,067

1) 0zH] 110-03 |27,0009 X597k x 2% x 109 = 31,860

2) F2In] 110-03 48,0009 %28 x10¥= 960

3) WAE 7] 110—03 |500,000¢ X274 x 23] = 2,000

4) $=3]o9n) 220-01 [20,0009 x 2% x140Y= 5,600

5) EhE3]E2)H)| 240-02 |400,0009) x 2= 800

6) 1gX3 320-05 33,850,000 X1.5%= 508

7) AA K] 320-05 |33,850,000¢ X 1.0%= 339
S84} 8,418 5,340 3,078
EAEenS84s 5,406 2,328 3,078

16/68




A& Al rEu e 2019 (A) 2018 (B)

1. EME=2TSX 5,406 2,328
7F SA S E A 2,428
1) AeA = 210-01 |5,000¢1 X80% x13]= 400
2) AR (L) H000
7h 75 210-06 |160,000¢1 % 1 x 43]= 640
W) =3 210-06 | 90,0004 % 17 x 42| 7k= 360
3) ZAFAln] A ) 210-06 |50,0009 x 27 x13]= 100
4) a8 210-01 | 14,0009 x 3] x 4A]3}= 168
5) 7+AH] 210-04 |3,0009 %507 x 15]= 150
6) ol gE 210-01 |50,0009) X 4% x 28] = 400
7) @23 230-02 |15,0009) X7 x 23] = 210
U} E2EEEeUAY 2978
1) 2p=A 2 210-01 |5,0009] X 40% % 13]= 200
2) AR (AR h200
7h 7|5 210-06 |100,000¢ % 24 x 35]= 600
W) %3} 210-06 50,0009 X 2 X 6A|Zk= 600
3) 9uE 210-01 |14,0009) X 3v} x 4] 3k= 168
4) 7HAIN] 310-01 |3,0009 x40 x 33]= 360
5) £AT7Y 210-01 |12,50091 x40 = 500
6) 993 8% 210-01 |50,000¢1 8% x 13]= 400
7) gel3] 230-02 |15,0009 X107 x 13]= 150

SRR IA L 3,012 3,012

1 R EAEEIAL 3,012 S0tz
7k St A B E A ¢ hadd
D) R Es 210-01 12,0009 x12¢= 144
2) EAAEANLELE 210-01 |8,0009) X 5% x 208]= 800
3) $ogE 210-01 |50,0009) x 3% x 23] = 300
o st e B sl h708
1) 2p= Az 210-01 |5,0009 x50% % 28] = 500
2) A (L) °00
7h 715 210-06 |160,0009 % 17 x 23]= 320
W) %3} 210-06 | 90,0004 17 x 24| 7k= 180

fot
-

1%

B3 - ST EAY
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[e)
3;3 Aol A% Az 20199 (A) | 20184 (B)

3) ZFARA N An) 210-06 |50,0009 x 29 x13]= 100

4) a8 210-01 |14,0009 x 3ul x4 A|7t= 168

5) 7+2n] 210-04 |3,0009 X507 x 23]= 300

6) S0 gE 210-01 |50,0009) X 2% x 28] = 200
PEXSIEY 1,301,272 1,268,005
3] B 2732189 614,000 608,450
1. Yol ¥ Z WAL 10,150 15,514

7} dojul ol 2 WA H wARA 2,000

1) A=Az 210-01 |8,00091 X404 x23]= 640

2) ZAFr (LR 120

7P 7= 210-06 |50,00091 % 17 x 28] = 100

) =3 210-06 | 20,0009 x 17 x 1A]7k= 20

3) 2H] 210-04 |8,000¢ x40 x 23]= 640

4) L= 210-01 [20,0009 x15% x23]= 600

. dojrldolu 2 wA LR RSk B 2 138 6,100

1) <uh) 310-01 |40,0009) x25% x 1= 1,000

2) AH] 310-01 |8,000¢ %25 x 43]= 800

3) zFI A E 210-07 |900,0009 x 24 x 1 3]= 1,800

4) H)3H) 210-15 |10,000¢ x 257 x 23] = 500

5) 9L= 210-01 [20,0009 x25% % 13]= 500

6) 23 230-02 | 15,0009 x25% x48]= 1,500

o} AT A )AH] 210—09 |200,000¢ x5 = 1,000

2t FAARE 5] 1,050

1 A 430-01 |250,000¢) % 3l = 750

2) AR Q1= 430-01 |100,0009 x 3t]= 300
2. Yojul B Z A1 AH] 603,850 592,936

7} KB4 405,000

153 110—03 |2,500,0009 x 14 x 129 = 30,000

2) 2+5w 110-03 |2,300,00091 x 6% x 129 = 165,600

3) 25 110-03 |2,200,0009 X7 x 129 = 184,800

4) 32T 110-03 |150,0009%x13% x12¥= 23,400

5) w3 110-03 |100,0009x 17 x 129 = 1,200
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713 - A B AR S 1] 9 (9] - e
i=] 1= ] =A o 1=
3 :t,; f}% 3;3 fg AR S B Az 20199 (A) | 20189(B) | F#(A-B)
U, Srellxia 110-03 |400,0009 %147 x 129= 67,200
o}, AlFA A 2 210—15 |300,000¢ x99 = 2,700
2}, 237 210-15 |1,650,0009 %9 = 14,850
o}, &2 e 36,800
1) AFA Y 21015 | 1,300,000 x 8% = 10,400
2) AckghzA ¢ 26,400
7h Aokt s 210-15 | 1,300,000 x 8% = 10,400
) A A ek 210-15 |2,000,0009) X 88 = 16,000
E] N A= 320-05 |2,500,0009 x 14%= 35,000
A} A 42,300
D FdAF 320—05 |490,000,000¢] X 4.5%= 22,050
2) AR 3 320—05 |490,000,000¢ X 3.12%= 15,282
3) xeA7|eekn 320-05 |16,000,000€) X 6.55%= 1,048
4) A K3 320-05 |490,000,0009 X0.8%= 3,920
PESE S 687,272 659,555 27,717
1. 259 LS YEH L 5,325 5,325
7F vl 2 e 1,125
1) AA 210-06 | 40,0009 x 278 x 48] = 320
9) $Jg= 210-01 |20,0009 x10% x 23]= 400
3) & 9|3 230-02 | 15,0009 x 27 x 18]= 405
. 978 2 - 4,200
1) 2ln] 310-01 |8,0009%x125% x18]= 1,000
2) AR 210-07 |500,0009 x 24 X 2.53]= 2,500
3) AZn 210-01 |20,0009 X 20% x 18]= 400
4) 3 9]3] 230-02 | 15,0009 %20 x 18]= 300
2. YAA@EFAEHEY 681,947 654,230
7h GoAA AL 681,947
1) Q1zn] 456,657
7hH Qofwl® WA} 262,254
(1) & 110-05 |30,000,000¢ X 6= 180,000
(2) AAL=ZSFS 110—05 | 20,0009 X6 x 25| 7k= 3,000
(3) Feldxg 110-05 400,000 %67 x12¥= 28,800
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=]

g Apeiued LCREpY RoA A&y 20194 (A)
(4) AH= 110-05 |300,00091 3% = 900
(5) AlTFA oF A Al ok R AMH] 110-05 |2,300,0009 %6 = 13,800
6) ¥4 32013 |2,575,0009 x 6% = 15,450
(7) Zwld+ 320-13 |229,700,0004 X 4.5%= 10,337
(8) A7Hd 320—13 [229,700,000¢ X 3.23%= 7,420
(9) =&V QR 320—13 |7,419,400¢ xX7.38%= 548
(10) A R.& 320-13 |229,700,000€ X 0.87%= 1,999

wh 77 A 8,302
(1) oA 110-05 |2,445,4209 x29= 4,891
(2) 7V 110-05 |120,0009 x 29 = 240
(3) A7) 110-05 |10,845¢1 X 2041 3}= 217
(4) A5G+ 110-05 |50,0009 x 29 = 100
(5) AN 110-05 |130,00091 %29 = 260
(6) HAF7H 110-05 |1,466,7109x1¥= 1,467
(7) Aol = 110-05 [229,730€9x29= 460
(8) =wlol+ 320-13 |7,273,0409 X 4.5%= 328
(9) A7}R3 320—13 |7,273,0409 X 3.23%= 235
(10) =91&7)1e0kn & 320-13 |263,95091 X 7.38%= 20
(11) 718¢x 3 320—-13 |7,273,0409x1.5%= 110
(12) AHA) R 320-13 |7,273,04091X0.87%= 64

th 37 ATFAL 43,282
(1) A% 110-04 |1,829,7909x 129= 21,958
(2) WERZH 110-04 [60,0009x129= 720
(3) 7F=Ead 110-04 |140,0009 % 129= 1,680
(4) A2 110-04 |17,409€ X 20A]17k= 349
(5) A7+ 110-04 |540,0009x12¢¥= 6,480
(6) F2n] 110-04 [130,0009x129= 1,560
(7) A7\ o= 110-04 | 300,000¢1 % 23] = 600
(8) WAF7] 110-04 |500,000¢ x 23] = 1,000
(9) Axrg 110-04 |93,0069%x19Y= 1,768
(10) &3 E2)n] 240-02 |400,000€ x 1= 400
(11) g7+ 320-12 |3,030,0009 <19 = 3,030

S - I

TEEEA 9 - 950l g — 95 WA REA Y
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713 et et A 93 (GRRESE)

=] H =z 2N S =]

j{: :C,; ;’};j 3;3 fg AR A= Az 20199(A) | 20189(B) | Z7H(A-B)
(12) =uld= 320-12 [36,113,380¢ x4.5%= 1,626
(13) A7 r3 320-12 |36,113,380¢ x3.23%= 1,167
(14) =917 80kR 3 320-12 |1,166,4609 X 7.38%= 87
(15) 1453 320-12 [36,113,380¢ x1.5%= 542
(16) A =3 320-12 [36,113,380¢ x0.87%= 315

ZhH 44 77,063
(1) A= 110-04 |1,829,790¢1x 2% x 129 = 43,915
(2) WFHZN] 110-04 |60,0009 X2 x12¢= 1,440
(3) 71=E5Y 110-04 80,0009 x 14 x12¢= 960
(4) AAZLEZSFS 110-04 [15,7709 X2 X 10A3F= 316
(5) A72&5o 110-04 |307,5009 x2H x12¥= 7,380
(6) F2IH] 110—04 |130,0009 %29 x 129 = 3,120
(7) A7) o= 110-04 |300,0009¢ X 2 x 23] = 1,200
(8) WAF7IM] 110-04 |500,000¢] x 27 x 23] = 2,000
(9) A= 110-04 84,1379 2% x19%= 3,198
(10) Z=3E2)n| 240-02 |400,0009) % 28 = 800
a1y g5&4+& 320-12 |3,144,0009 x 2= 6,288
(12) =1l = 320-12 |62,326,4209 x4.5%= 2,805
(13) A7xdg 320-12 |62,326,4209 X 3.23%= 2,014
(14) =9#&7)1e kR 3 320-12 |2,013,1409X7.38%= 149
(15) 1&x3% 320—-12 |62,326,4209 % 1.5%= 935
(16) AHA .3 320—12 |62,326,4209 X0.87%= 543
nh) 2 FAR 65,666

(1) 9% 110—-04 [1,829,790¥ x2M x10¥= 36,596
(2) ZEA g 110-04 |1,829,790€1 X5% % 108 = 915
(3) WEH N 110-04 [60,0009%x2Wx109= 1,200
4 7VErd 110-04 |80,00091 x 27 x 129 = 1,920
(5) AT} 110-04 |12,5759 %2 X 104 7F= 252
6) A7|2&5T 110-04 97,5009 x2H x12¢= 2,340
(7) 93255 110-04 |50,0009 %28 x10€= 1,000
(8) 2] 110-04 |130,0009 x2M x12¥= 3,120
9) Az} 110-04 |67,0609 %21 x15YU= 2,012
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AR ST S A 9 (9] - e
Z =0 o 1=
j}g 3;3 jg PRSIV B Az ] 20199 (A) | 20184(®B) | ZFA-B)

(10) A7 AZ 110-04 |300,000¢ x 29 x 23] = 1,200
(11) AR x4 110-04 |447,5009 % 18 X 43]= 1,790
(12) 8A57] 110-04 |500,0009 % 24 x 23] = 2,000
(13) tiAelg el An] 110-04 |62,8709 %18 x10%= 629
(14) 223 E 0] 240-02 |400,0009 X219 = 800
(15) =&+ 320-12 |2,164,48090 X 28 = 4,329
(16) =+ 320-12 |53,783,3909 X 4.5%= 2,421
(17) A7 w3 320-12 |53,783,3909 X 3.23%= 1,738
(18) =817 QR 3 320-12 |1,737,2009 X 7.38%= 129
(19) 113 320-12 |53,783,3909 X 1.5%= 807
(20) AHA] R 320-12 |53,783,390¢ x0.87%= 468

2) RG] 106,560
7h FEEREY 45,000
(1) A=A2¢ 210-01 |5,0009 x1,500% x 23] = 15,000
(2) A& 210—01 |20,0009 X50% x 303 = 30,000
L) W g o Ep-of 12,000
(1) A 210-01 [25,0009 X607 x43]= 6,000
(2) 998 210-01 [20,0009 X 30%& % 103]= 6,000
oh AIRIRER-% 200
(1) =AY 210-01 |25,0009 x47x13]= 100
(2) g 210-01 |20,000¢1x5% x13]= 100
2h) W g 21,160
(1) A 210-01 [25,0009 X708 x43]= 7,000
(2) ST 2] 310-01 |2,6009 %60 x303]= 4,680
(3) TS EZFAIN] 310-01 |3,300€1 %60 x103|= 1,980
(4) &&= 210-01 |20,0009¥ % 25% x153]= 7,500
uh) Ao AHF- 2,200
(1) Adn) 210-15 |50,000¢1 x 20 x 23] = 2,000
(2) $99E 210-01 |20,0009) x5% % 23] = 200
uh) FojFAlY 25,000
(1) AR WS 210-06 {20,000 %25 X 8A|Z= 4,000
(2) A4 210-04 |8,0009 X708 x23]= 1,120
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713 - A B AR S 1] 9 (9] - e
1= 1= A o 1=
f{: :c,; Al 3;3 fg AR B A5 AbE ol 20199 (A) | 2018d(B) | Z7(A-B)
(3) EAAx1e- 210—01 |100,0009 X 105~ x107]= 10,000
(4) ZFEZ2 N 210-01 |50,0009 X50% x23]= 5,000
(B5) Y& 210-01 [20,0009 X 122% x 23]= 4,880
D EA 430-01 |10,0009€x100¢= 1,000
3) 7] T-&-3n) 118,730
71 71387182973 vl 24,780
(1) YR H] 6,000
op 7184 210-01 |100,0009%108]= 1,000
p Maw 210-01 [250,0009] %209 = 5,000
(2) EZuAln] 210—05 |8,000¢ x20™ x33]= 480
(3) ofH] 7,600
op #u 220-01 |20,0009 X 199 x 83]= 3,040
b = 220-01 |40,0009 % 197 X 63]= 4,560
(4) 71EQF-Z=41] 230—01 [200,0009 x12¢¥= 2,400
(5) A ANFAFZ=71] 250—-02 [150,00091x129= 1,800
(6) A7 EF= 210-01 [10,0009 x5%Fx12¢¥= 600
(7) =71 210—01 [100,000¢¥ x 10 x 23] = 2,000
(8) A FFokE 210-01 |10,0009 X 75% x 23] = 1,500
(9) T2 1393 230-02 |15,0009 X209 x 83]= 2,400
W) 3L FUAA 33,040
(1) dsle= 210-02 |130,0009 x 129 = 1,560
(2) QVEJYIEAIN 210-02 [320,0009x129= 3,840
(3) A71oF 210-02 |2,000,0009 x 129 = 24,000
4) AT 210-02 |70,0009 x 129 = 840
(5) MelrEo 210-02 |225,0009x129= 2,700
6) AARZRH = 210-02 |100,00091%13]= 100
oh AR A B 44,500
(1) AAAB]GA B 210-15 [350,0009x12€= 4,200
(2) AF71Ag = 210-13 [230,0009x129= 2,760
3) Wedrmm 210-13 [100,000¢ x62= 600
(4) A7|dAAY A E 210-13 |100,0009x129¥= 1,200
(5) Fel7du| L 210—13 [380,0009x12¢¥= 4,560
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s
o 1=
3?.3 ﬂ?d: Akl E-A % ) 20199(A) | 20181 (B) (A-B)

(6) AHA AT g 210-13 |140,0009x12¥= 1,680

(7) 3FEAEEAAAE 210—-13 |1,000,0009 x4 4= 4,000

(8) A1 &gn| 210-15 [925,0009 x12¢9= 11,100

(9) A AN LA 210—-09 |1,200,0009 X 12¢¥= 14,400

2h) HF T 16,410

(1) AFE 430-01 |900,000¢ x5t}= 4,500

(2) ZYH 430-01 |250,000€ X 14t)= 3,500

(3) LCDEXZAE 430-01 |2,000,0009 x 1t}= 2,000

(4) FAP 430-01 |650,000¢ X 17l= 650

(5) APAAA =} 430-01 |240,0009 x2471= 5,760
78 7SFA 3 Y 52,497 47,637 4,860
w874 -G A3} 47,777 43,717 4,060
1. B9 3aAS 1,720 1,852 A132

7}, o sk S 1,720

1) ZAFr (4RD 1,320

7hH 71& 210—06 |70,000¢ x4 x43]= 1,120

W) =3 210-06 |40,0009 X 17 X 5A]|7b= 200

2) 7¥24) 210—04 |3,0009 X507 x13]= 150

3) $og= 210-01 |10,0009 x10% x18]= 100

4) o3 230—02 |15,0009 X109 x13]= 150
2. BN FAL-Y 46,057 41,865 4,192

7}, Fpetal Ak 7] 46,057

D 7135 110-04 |1,643,0009x 18 x12¢9= 19,716

2) A7 2RI A 110-04 |600,0009 X1 x129= 7,200

3) WEHZH] 110-04 |60,0009x18 x12¥= 720

4) 21 110-04 [130,00091 X1 x12¥= 1,560

5 AFLETFG 110-04 |138,1009x 19 x28%= 3,867

6) Ax}5ot 110-04 |88,160¢ x 11 x259= 2,204

7) A7 ol 110-04 {300,000 x 17 X 23]= 600

8) HAF 7| 110-04 |500,000€ x 17 x 23] = 1,000

9) W= E 1] 240-02 |400,0009x13]= 400

10) B8+ 32012 |4,945,0009 x 1% = 4,945
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PR R A S A A (5

Ry

o I A B Al B RENE 20199 (A) | 20189(B) | Z7(A-B)
A | A | A ! T e ° ° i
11) =9z 320-12 |36,702,0009 X 17 X 4.5%= 1,652
12) A7 R3 320-12 | 36,702,000 x 1 x3.23%= 1,186
13) wQl7] Qokn & 320-12 |1,186,0009 x 1% X 7.38%= 88
14) 1853 320—12 |36,702,0009 X1 x1.5%= 551
15) AHA 2.3 320—-12 [36,702,0009 X 11 X 1%= 368
AdsAAEF L 5A A 4,720 3,920 800
1. #3723 23] 4,720 3,920 800
7k A addete oy 3] 4,720
1) Ard 210-06 {60,000 X409 x 13]= 2,400
2) 211) 310-01 |8,000¢1x 25 x 13]= 200
3) 7H21n) 310-01 |3,00091 x40 x 135]= 120
4) YAFEE 210-01 |8,0009 x 2507 x 1&]= 2,000
IS5 2 3t 3,842,629 2,666,840
S ASNIA Y 463,050 478,780
1 ASTEHELY 462,330 478,060
7t AFHARE AT 1,800
1) AeA = 210-01 |4,0009 x50% % 138]= 200
2) 2] 210-04 |8,0009 x50 x 38]= 1,200
3) $9g= 210-01 |20,0009 x10% x238]= 400
L A S g A 600
1) 7+ 210-04 |3,0009 x 1007 x 18]= 300
2) $Ag=E 210-01 |20,0009 X 15% x 135]= 300
o}, 7125wl 459,930
D T894 s 97,930
7D Y37 210-15 |1,4509 X707 X 285 x5 = 14,210
) ok it 210—15 |1,0009 X707 X 28F X5 = 9,800
th AEF37 210-15 |3,30091 X 140W x 325 x 5= 73,920
2) ZHAr (4R 168,000
7hH Y3 210-06 | 40,0009 ¥ 4™ X 285 x5 X 1.75A]7}= 39,200
) top=3 3 210-06 | 40,0009 ¥ 47 X 285F x5 X 1.75A]7}= 39,200
th AJE)4 3 210—06 | 40,0009 X 8™ X325 x5 X 1.75A]7}= 89,600
3) 2t e 210-07 |200,0009 X 150 x 6tjj= 180,000

W - BFE-AEFEFA Y - AFuSAE - tuAS g stA Y
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7138 - AR E A S XA (<19 : H9)
B =) 2 =N o H
ol e f}g 3?.3 fg Adu el E-AE A& 20199 (A) | 2018€(B) | #7HA-B)
4) YAEF 210-01 |100,0009 x 14% x 103]= 14,000
2. XX Z7IAA Y 720 720 0
7h S A =TI 720
D) Axg 210-06 |40,00091 %13 x18]= 520
2) 4] 210-04 |8,000¢ x 159 x13]= 120
3) +HEF 210—01 |20,0009 X 4% x13]= 80
AS5EEFEAL 285,000 228,000 57,000
1. 54F55L9 285,000 228,000 57,000
7F SAETELS 235,000
1) 253w 620-03 |500,000¢ X 2809 = 140,000
2) =% 95,000
7 &9 620-03 |500,00091 X190 = 95,000
. A5G A E Y 50,000
1) <HH| 310-01 |40,0009 x50 X 6= 12,000
2) 28] 310-01 [8,0009x50™ x433]= 17,200
3) A FA B 210-09 |1,100,000¢ x 23] = 2,200
4) F-_17n]&-< 210-13 |400,0009 x 129 = 4,800
5) THE&F 210-01 |250,0009 X 54% x 13]= 13,500
6) +9E= 210-01 |20,0009 X 5% % 33]= 300
St AlSA| o AN A 3,094,579 1,960,060 1,134,519
1. StUA AL HE 3,094,579 1,960,060 1,134,519
7F SAzxugE A A S 1,074,875
1) A]dH] 420-03 |2,452,000¢ X 350m'= 858,200
2) 7] 420-04 |858,200,000¢ X 1.287%= 11,045
3) At 420-05 |858,200,000¢1 X0.656%= 5,630
4) 7)1 ZR I FAM] 420—-03 |200,000,0009 x 12 = 200,000
U AR S RO A A S A S 1,945,597
1) A]dH] 420-03 |2,452,0009 X 620m'= 1,520,240
2) Z&u] 420-04 |1,520,240,0009 % 1.178%= 17,908
3) AlAdF-on 420—-05 |1,520,240,0009 X 0.49%= 7,449
4) 7)1 2R 7o) FAM] 420—03 400,000,000 X 14]= 400,000
th ARk R AU A S A e S A R A A 2 74,107

TS — wF-SEEEA Y - ALGuSNAS - FuAGAEANA
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(9] - e
=] H R o
ol e f}g 3?.3 fg AR & A2 20199(A) | 20189(B) | Z%(A-B)
D AUASE A G0 38,805
7h 7)& A 420-03 |715,0009 x277)= 19,305
W 7E2EEEALA X 420-03 |51,7309 x377m'= 19,500
2) oF - H-UA| A A A 28,763
7h Adoly (Yol UEZ R ) 420-03 |10,400,000¢1 X 27h= 20,800
) AdEA 420-03 |6,663,0009 % 124]= 6,663
o} 71elR A A 420-03 |1,300,0009 x 12]= 1,300
3) AdAm] 420-02 [67,5668,0009 x8.656%= 5,849
4) A4 HF-tn] 420-05 |67,568,0009 % 1.021%= 690
EdgzAd 3,232,005 17,765 3,214,240
R A kel 3,227,860 13,620 3,214,240
1. LS =Y 3,216,820 0 3,216,820
7} A adEol 32 216,820
1) 748 8] (Froral 9 a45) 210-06 |3,300,0009 x 211.= 6,600
2) AA AN 420-02 |100,000,0009 X5.11% % 21= 10,220
3) Aldn] 420-03 [100,000,0009 X 21.= 200,000
|5 il e Eat s S I g = R e 1,732,290
1) g Rdg zAn] 1,723,320
7h A 420-01 |130,800,0009 x14)= 130,800
) Ade e 420-03 |79,626,000¢9 x 204 = 1,592,520
2) AR R A A 2 Ag ) 8,970
7h BlE7Y(9%) 430-01 |6,470,0009 x14]= 6,470
W E9 % 420-03 |2,500,0009 x 17}1= 2,500
ok AR A AR R E S LA E 7| AR A S 1,263,310
1) Eo|"A A 4,950
7h BlET (5F) 430-01 | 4,950,000 121= 4,950
u|t]o] ¢ g A0 v 42,450
7h 771 (19%) 430-01 |42,450,00041 % 141= 42,450
3) B A UAA 66,000
7h HETF A 420-03 |5,000,000¢) X 62 = 30,000
) =4 420—03 30,0009 x5071= 1,500
th ] Aot HEFnt 420-03 |1,000,0009x 15%= 1,000
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713 et et A 93 (29 : 29
1= 1= 7 o 1=
3 :t,; ?}Zj 3;3 fg AR A= Atz] e 20199(A) | 20189(B) | Z7H(A-B)
b)) AA|FA7he 420-03 300,000 x 17]= 300
mh) HES (12%) 430-01 |33,200,0009 % 14]= 33,200
4) J3 A AAAE 50,900
71 B1FT (15%) 430-01 |50,900,0004 x 14)= 50,900
5) FAx-HAlA 18,000
7h #ZA 420-03 |4,500,0009 X 42 = 18,000
6) Al 4,970
7hH BEEEEA4 420-03 |2,600,000¢ x 14]= 2,600
W FE5 420-03 |30,0009 x57)= 150
h vIETY (4F) 430-01 |2,220,0009 x14]= 2,220
7) EelEnl A 11,100
7Y 717k} 430—01 |10,000,0009 x 17}= 10,000
W &9 430—-01 |40,00091 x207l= 800
th Rk 430-01 |150,00091 x 27} = 300
8) ofEAIAIAM 15,350
7H AFESE 210-01 [100,0009 x 5% x 33]= 1,500
) vlEY] (3F) 430-01 |8,850,000¢1 % 14= 8,850
o Z9ro] 420-03 |2,500,0009] x 22]= 5,000
9) AEAZA 7,150
7h AA A=y 430-01 |5,000,000¢ x 17}= 5,000
IR O E | KA1 430-01 |65,0009 X 107l= 650
oh o)A 430-01 |30,0009 x507]= 1,500
10) HAAAEA] 41,540
7h AWAAL 420-03 | 3,000,000 x 12 = 3,000
) wre 420-03 |15,000,000¢ % 12]= 15,000
op) Zajup 420-03 |5,000,0009 x 124 = 5,000
2h) HEFTY (17F) 430-01 |18,540,0009 X 14)= 18,540
11) =X 50,000
7h el7H e &A1 Q] 430—01 |50,000,000¢ % 12]= 50,000
12) AEC 9 A% 12,543
7P B)ZE 1] (10%) 430—01 |12,543,0009x12]= 12,543
13) 5=z 6,260
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e
/\ﬂlﬂr }\],?j "H [e2] o Aﬂ L A= 2 —
2] % = = Al 0194 (A) 20184 (B) (A-B)
7h Egfolw i 420—-03 |350,0009 x1071= 3,500
) ol E 430-01 |190,0009 x 127)= 2,280
(=S PP I b 430-01 |60,000¢ x87= 480
14) 7RI 200,000
7 A 2R 5] 430-01 |200,000,0009 x12)= 200,000
15) Au Al 43,380
7h B1ET4 (5%) 430-01 |18,380,0009lx 14)= 18,380
) E9 %0 420-03 |2,500,0009) X 107]= 25,000
16) A e e 24 66,600
7h BIET4 (9F) 430-01 |66,600,000¢1 x12]= 66,600
17) 2 274,000
7 FEgE AN 420-03 |30,000,0009 X 12]= 30,000
) ek} 430-01 |7,000,0009 x 14]= 7,000
) ZHS3AA 420-03 |212,000,0009 x12]= 212,000
Zh) o 420—-03 |5,000,0008 x 1] = 5,000
up) orut 430-01 |20,000,0009 x12]= 20,000
18) PCHIA]A 45,140
7h BT (5%) 43001 |45,140,000€1 x 14 = 45,140
19) ALAA 302,977
7D FEAAE O A 2k 420-03 |200,000,0009 x 12]= 200,000
W) =7 420-03 |102,977,0009 x 124 = 102,977
2k A adAA i EEH A e 4,400
1) 2H] 310—01 |8,000¢ %207 x203|= 3,200
2) k2] 310-01 |3,0009 % 20% x 203]= 1,200
2. 4539 5,280 8,160 22,880

7} KA E 5 A 3,180
1) A=A = 210-01 |5,0009 %3804 x138]= 1,900
2) A 210-06 |40,0009 x5 x13]= 200
3) AH] 210-04 |8,00091x50% x 13]= 400
1) $934F 210-01 |50,0009 % 10% x 13]= 500
5) &9l3] 230—02 | 15,0009 x 129 x18]= 180
v, AR S A S L E 739 2,100

T T e

F85A Y - LAY - E3elenSddst
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7187 A A S A D)
i=]
;L; ARy E— =l 2019 (A) 2018 (B) (A-B)
1) 227389 210-15 |1,000,000¢ % 23] = 2,000
2) o9x 210—01 [20,0009 X5%Fx13]= 100
3. ojo| 27| G A=A 5,760 5,460 300
7k oo aA} 5,760
1) Aol 210-01 |1,23091x597) % 13]= 73
2) AFEH) 210-01 |10,000¢ X551 x13]= 5,510
3) “&AFA o) 2~ 210-01 |3,0009x597] x 13]= 177
ol gFUEA B 4A 4 4,145 4,145 0
L S zE7E 287 4743 4145 4145 0
7k st A E S 3,620
1) <) 310-01 |22,5009 x40% x1d= 900
2) 21n] 310-01 |8,0009x40™ x32]= 960
3) A=A = 210-07 |700,000¢ x 1t x 18]= 700
4) A& 210-15 |24,0009 <403 = 960
5) 2oe= 210-01 |20,00091 X5% x13]= 100
L} tHE skl Al A el 525
1) A=A 210-01 |5,750€ X 60} x13]= 345
2) o9x 210—-01 [20,0009 x9%x13]= 180
62,393 44,348 18,045
AP =A Y 52,169 38,124 14,045
1. AT S AR A 47,415 33,370 14,045
7}, SR Qb $n) 5 - 47415
D wEddaeg 43,750
7 ZAAHEE (4R 210-06 | 160,000 X 1% x 28] = 320
) 2n) 310-01 |8,0009 x50 x 23] = 800
th 7+-4H] 310-01 |3,0009 x50 x13]= 150
) L9983 210-01 |50,00091 X 15 x13]= 50
nh SwAET 42,430
1) 258w 38,790
op =9 610—-01 |940,0009 x 11= 940
ph 29 620-03 |1,892,500¢1 % 203L= 37,850
(2) =8 3,640
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7187 AR B Ak S A 9 (k9] )
1=} =] = o =]
il ?}Zj 3;3 jg Ape el == EE 20199(A) | 20189 (B) | ZZHA-B)
op =¥ 620-03 |3,640,0009 % 11= 3,640
2) S E e AA 3,665
b StmAE 3,665
(1) =& 3,665
op =¥ 620-03 |610,800¢ % 6= 3,665
2. gokA #a) 4,754 4,754 0
7}, Sk A A A 4,604
1) 2n] 210-04 |8,0009¥ %186 x13]= 1,488
9) 7HAH] 210-04 |3,000€1x186% x 13]= 558
3) x}eFelxtg 210—-07 [400,0009 X 5th x13]= 2,000
4) H&n) 210-01 |3,0009%x186™ x13]= 558
L} o] lo]izol A 7 150
1) ] 150
7h AT 210-06 |70,00091 %19 x13]= 70
}) AH) 210-04 |8,0009 x5 x 23]= 80
R EISE] 10,224 6,224 4,000
1. St ZGgauA g 6,324 2,324 4,000
7). St e o el 2,444
1) xEA 2 210-01 |3,0009x100%-x13]= 300
2) A (LR 210-06 | 70,0009} x 27 x 18] = 140
3 A1 210-01 |14,0004 % 30} x 24| 7k= 84
4) A1) 210-04 |8,00091x175% x18]= 1,400
5) SAFE-E 210-01 |26,0009 X 10% x23]= 520
L A1 skl g <1 3l 3,880
1) ZFA g 210-06 |70,0009 x4 x108]= 2,800
2) ¥ 3] 230-02 | 15,0009 %8 x93]|= 1,080
2. YA =AL 3,900 3,900 0
7} FE R ARA 2,700
1) A4 210-04 |8,000¢ x5 x403]= 1,600
2) TREFE 210-01 |6,000€1 X 1007] x 13]= 600
3) *oe= 210-01 [20,0009 x25% % 138]= 500
. A A 1,200
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(9] - )

5] n =N S =]
ol e ?}2 3?.3 fg Aty E—AE Ao 20199 (A) | 20189(B) | ZE7(A-B)

1) ¥93 230—02 |15,0009 X409 x23]= 1,200
AN ETA 275,307 275,207 100
i ia=s sl 275,307 275,207 100
1. J(Wee) ZZRELY 275,307 275,207 100

7} 174] 185,687

1) A 33,422

7h 78S 110-04 |2,245,1909x 18 x12¢= 26,942

W) Azt 110-04 |73,9209 X189 x17%= 1,257

o) AFT2FE 110-04 |13,860¢ x 174 X 1204 3k= 1,663

@) F21H] 110-04 [130,0009 %1% x12¥= 1,560

n}) A 7)Are] 2 110-04 |300,00041 % 11 x 23] = 600

v WA F 7] 110-04 |500,0009 x 11 x 23] = 1,000

AP 2B A)H] 240-02 [400,0009 < 19 x13]= 400

2) A/t 119,599

7h 7185 110-04 [1,977,9109 x4 x129= 94,940

) aAxpewr 110-04 |67,0209 x4 x 17 = 4,558

h A2 110-04 |12,2109) x4 x 12071 3k= 5,861

Zh F21H] 110-04 |130,0009 x4 x12¢¥= 6,240

u}l) Z7)do 110-04 {300,000 x 4™ X 23]= 2,400

vl A& 7)) 110—04 |500,000¢) x 4™ x 23] = 4,000

AP & X1 240-02 [400,0009 x4 x13]= 1,600

3) AFS|HAAL 32,666

7h 71¥H 110-04 |1,834,1409x 19 x 129 = 22,010

) Az 110-04 |70,2609 x 1% x 17 = 1,194

o) AdFLETY 110-04 |13,1809 x 17 x 12041 7+= 1,582

2h F2H) 110-04 |130,0009x 1% x12¢¥= 1,560

np) A7)l 110-04 |300,0009 % 178 x 23] = 600

v A7 110-04 |300,0009x 14 x122= 3,600

AP WEH 2] 110-04 [60,000€x1¥x129= 720

oh) HAZ 7] 110—04 |500,000¢ X1 x23]= 1,000

A} W& B 240-02 [400,0009 %19 x13]= 400

v B A= 15,453

W - AP REAY - SR EEAD - SATEEEAY
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et e ilh P R i (59 A 9)
= o 1=
?}Zj 3?.3 fg Ak E-A% e 20199(A) | 20189(B) | %(A-B)
1) A28 AL 320-12 |2,967,0009 X 1% = 2,967
2) AEdEAt 320-12 |2,408,0009) x 4= 9,633
3) A3 &R AL 320-12 |2,853,0009 X 1= 2,853
o} AR 19,067
1) =mol= 320-12 |185,686,700¢ x4.5%= 8,356
2) 713 320-12 |185,686,7009 X 3.23%= 5,998
3) =147 e ekH 3 320—12 |5,997,6809 X7.38%= 443
4) 1413 320-12 |185,686,7009 X 1.5%= 2,785
5) AR 320—12 | 185,686,700 X0.8%= 1,485
2} AEA Rl ol H| 220—01 [20,0009] X 69 x1203]= 14,400
v}, -] 38,500
1) THEA= 210-01 |1,000,000¢ X 1% % 33]= 3,000
2) 22w 210-07 |1,600,0009 x 1tj= 1,600
3) EAA 7| FE=L 4] 210-01 |250,000¢ x 43]= 1,000
4) T3 TUAA 210-02 |850,0009 x129= 10,200
5 TR 210—-15 |2,000,0009 x53]= 10,000
6) Al Ak 210-15 |300,0009 x53]= 1,500
7) A5 210-15 |500,0009 x 103]= 5,000
8) v A 210-15 [300,0009] x 43]= 1,200
9) A4H] 210-15 |1,000,0004 % 23] = 2,000
10) WA 210-01 |50,0009 X 2% x 308] = 3,000
v}, A SH] 2,200
1) ARFA S} 430-01 |500,0009 x 47]= 2,000
2) EYEHTT] 430-01 |200,0009 % 17)= 200
AR ReagmA 184,800 74,800 110,000
ZARR kg 184,800 74,800 110,000
1. AZAF == 199 184,800 74,800 110,000
7} A2 SR D ANE S e 320-02 [60,000,000¢ x 17]#= 60,000
U FEIpANE Y| 2 A E Qe 320-02 |14,800,0009 x17]%= 14,800
o ARAFZE TG A A 110,000
1) A=A 2¢ 210-01 [10,000€ X 2,000%x 13]= 20,000
2) Z3AHrd (AR 210-06 |100,0009 x 109 x 103]= 10,000
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=9 A - Ape]up el == AFE| 9
Abe] Akl = = & S 019 (A) 20181 (B)

3) Ydug 210—-01 [14,000€ X 3uf x 10A17k= 420

4) Z:uhn) 310-01 [40,000¢ X257 x 3= 3,000

5) 21H] 210-04 |8,000€ x50™ x53]= 2,000

6) k2] 210-04 |3,00091 x50 x 103]= 1,500

7) AR E 210-07 |500,00091 X 641= 3,000

8) A= 210-07 |500,000¢) X 50t]= 25,000

9) A3FH] 210-01 |10,000€ X100 x 443]= 44,000

10) AFR-23E 210-01 |23,2009 x5 x53]= 580

11) $ogx 210-01 |50,000¢1 % 2% x53]= 500
A2 ahal A 11,960 10,330
AFARAY LA A 11,960 10,330
1. FRLIABATEIA 2 11,960 10,330

7). FotmAlE st 11,960

1) A=A 2F 210-01 |3,500¢ x400%-x13]= 1,400

2) HESY 210—06 |40,0009 x 8™ x103]= 3,200

3) 2] 210-04 |8,00091x9% x103]= 720

4) 7421 210-04 |3,0009 x99 X 103]= 270

5) AAA g 210-01 |5,600,00091x13]= 5,600

6) +9% 210—01 |20,0009 X 8F x 23] = 320

7) @03 230-02 | 15,0009 X107 x 38]= 450
AEER] =Y 19,914,349 20,897,067
5= 5 8x]9 187,500 188,778
W5 s g oo 187,500 188,778
1. 22273889 187,500 187,500

7} X9 62,500

1) AH 620-10 |12,500,0009 X579= 62,500

U =S8y 620—03 |3,125,0009 X 403 = 125,000
2429 18,781,849 17,055,173
A= BN P 18,781,849 17,055,173
1. Zo]&=R a3 1,319,691 1,302,029

7} x4 620-03 |119,612,0009= 119,612

U 258w 620-03 |799,408,0009 = 799,408
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AU e E—ilE AHEU S 2019 (A) 20181 (B)

o} St 285,910
1) 29 620-03 |267,918,0009= 267,918
2) A 620-10 |17,992,0009= 17,992
2} 153t 114,761
I 620-03 |114,761,0009= 114,761

2. EAA S F-Z 74 14,879,642 12,779,734
7F 824 620—-03 [360,517,00091= 360,517
v =53t 5,905,048
D =4 610-01 |182,650,0009= 182,650
2) &9 620—-03 |5,722,398,0009= 5,722,398
t}. =stw 3,754,109
D ¥ 62003 |2,906,643,0009= 2,906,643
2) AH 620—10 |847,466,0009= 847,466
2} 15w 4,766,317
D ¥ 62003 |2,738,044,0009= 2,738,044
2) A 62010 |2,028,273,0009= 2,028,273
nt 558 93,651
1) 29 620-03 |93,651,0009= 93,651

3. $FEEFTFAERAN|A A 821,000 762,925
7F x4 620-03 |27,000,0009= 27,000
(B 385,000
1) =9 610-01 |11,000,0009= 11,000
2) 34 620—-03 |374,000,0009= 374,000
t}, 8w 191,000
1) 29 620—-03 |155,000,0009= 155,000
2) A 620-10 |36,000,0009= 36,000
2t 15w 214,000
1) 29 620—-03 |128,000,0009= 128,000
2) A 620-10 |86,000,0009= 86,000
v, S48 620-03 | 4,000,00091= 4,000

4. JAAFAEALY 1,761,516 1,388,725
7} 429 620-03 |51,600,0009= 51,600

2TTUE — LEHEAAY - FAAY - | FFANA Y
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(9] - )

1=
fg AR A= Az 20199(A) | 20189(B) | Z7H(A-B)

U 2=y 769,206

1) == 610-01 |21,351,0009= 21,351

2) 39 62003 |747,855,00091= 747 855

o}, 8w 446,803

1) 29 620—-03 [362,913,00091= 362,913

2) A+ 620—-10 |83,890,000¢= 83,890

o}, 15skw 483,670

1) =29 620—-03 |282,688,0009= 282,688

2) A 620—10 |200,982,0009 = 200,982

u}, E48ky 620—-03 [10,237,0009= 10,237
SR 945,000 1,115,873 170,873
WEEX)9- AR 945,000 1,115,873 A170,873
1. ISEZ AR AR Y 945,000 1,115,873 A170,873

7h WS EA A8 wA 895,000

1) ¥Hgw 620—03 |741,900,0009= 741,900

2) A} skw 620—-10 [153,100,0009 = 153,100

Lt AR AR A 18,190

1) B&EA DA 18,190

70 A (LR 210-06 | 160,000 x5 x 48] = 3,200

W dug 210-01 | 10,0009 X 31} x 20A] 7F= 600

th) 211) 210—-04 |8,0009 x60% x43]= 1,920

b 7F2In 210-04 |3,0009 X608 x43]= 720

v} oty =AY 210-01 |10,000¢ X 259 x53]= 1,250

v w73 H] 210—01 |100,000¢ X 20 X 38| = 6,000

AP wAFSkEFolg A 240—01 |1,500,0009 x 38 = 4,500

th wSEAAKY 7,220

D 1718 7,220

7hH & 718X XA 210-06 |50,0009 X134 x103]= 6,500

) 24 310-01 |8,000¢ 9™ x103]= 720

2t A AA A 10,000

D A EA 2 13 210-13 |5,000,0009 x 27}7] ¥= 10,000

vl 055 A WA - 14,590
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AR S E-—A& =y 20194 (A) 2018 (B)
D w5549 14,590
7 A=A =} 210-01 |20,0009 X 4% x 394-= 3,120
W} A3 A 210-06 [80,000¢ x4% x1038]= 3,200
h ¢34 210-01 50,0009 x 1% x 108]= 500
2h) on 7,320
(1) ) 220-01 |20,0004€1 % 3% X 753]= 4,500
(2) =4 220-01 |40,0009) x 37 x 203]= 2,400
(3) =9 220-01 |70,0009) %37 x 23] = 420
uh) 93] 230—02 |15,0009 X159 x23]= 450
2,386,434 1,006,612
12,267 13,402
7 1,632 4,512
1. RAV{ Y29 1,632 4,512
7} BA AR 1,632
D A= (YR 900
7h 7] 210-06 |100,0009¢ %27 x 33]= 600
W) 23 210-06 |50,0004€ X 27 X 34| 7k= 300
2) dix 210-01 |14,000€) X 31 X 6] 7k= 252
3) 909 210-01 | 20,0009 x 8% x 33]= 480
S DR 10,635 8,890
Sta s =Ew 700 700
7h EEFAHAN] 700
1) AreE 210-01 |10,000€ X 603] = 600
9) $18F 210-01 |20,0009 X 5% 15]= 100
2. TATHISIHES 9,935 8,190
7h WS RS 9] Y 3] 9,575
1) ZA=ok 210-06 |80,0004 %107 x108]= 8,000
2) 2] 310-01 [8,0009¥x 157 x63]= 720
3) 7+21H] 310-01 |3,0009 x 15 x43]|= 180
4) 9] 3] 230-02 |15,000€ % 159 x33]= 675
. e A S 360
1) 893 230—-02 |15,000€ 8% x 33| = 360
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(k9] )
I=] =] =N o H
Sl ?}?; 3;3 jg Apejujel R S Azl 20199 (A) | 2018€(B) | =7HA-B)

2277 2,335,211 957,194 1,378,017
SRS 5,216 5,216 0
L FHZ5HEL9 5,216 5,216 0

7} S AR A 2710

1) AaA = 210-01 |5,0009) X 140%-x 13]= 700

2) ZAFr (L) 880

b 715 210-06 |70,000¢ % 27 x 43]= 560

) =3} 210-06 | 40,0009 X 27 X 4] 7k= 320

3) diE 210-01 |14,000€ X 3v} x 8A|7k= 336

4) WA 210-01 |150,0009 x 27 x 13]= 300

5 98 210-01 [50,000¢ 5% x23]|= 500

U St A 98 A e (501L) 310-01 |50,0009) 25 x 23] = 2,500
S Fae-q 16,014 36,014 20,000
1. A2 kxRS G AN 16,014 16,014 0

7}, SR RSN 620-03 |2,669,000¢ x 6tf= 16,014
SpFATAAA 2,313,981 915,964 1,398,017
1. S FA7|FAA L= 2,313,981 915,964 1,398,017

7} FAA A& Y3 2,012,570

1) E/\]-x/\l Aggluryﬁé 402,928

7hH A AdH] 420-03 | (2,562,0004 % 110m) +(1,793,000¢l X 60n) = 389,400

) 7En] 420-04 |389,400,0009 X 1.984%= 7,725

o) A Rn] 420-05 |389,400,00091 X 0.72%= 2,803

2} 7]7-o] ] 620—03 |3,000,000¢1 x 14 = 3,000

9) FAL A BT = 1,609,642

7h A)AlR 1,572,238

(1) =94 A3 420-03 | (2,562,000 x 260n) +(1,793,0009 X 344m) = 1,282,912

(2) 71217} 420-03 |135,0009 X604 m'= 81,540

(3) AAn 420-03 |157,786,0009 x 14]= 157,786

(4) RO E 2y 420-03 |50,000,00090 X 14]= 50,000

) 7Hn) 420-04 |1,572,238,00041 X 1.586%= 24,936

th Al E o] 420-05 |1,572,238,000€ X 0.475%= 7,468

2} 7]F-o] 4] 620—03 |5,000,000¢ x 14 = 5,000
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(9] - e
=] =] A zH [e)
Zﬁ g f}é 3?.3 fg AF i A= AbE ol 2019€(A) | 2018dB) | F%(A-B)
U =g 7] A 301,411
1) %38k 620-03 |163,060,0009= 163,060
2) =% 26,363
7D B 62003 |23,483,00091= 23,483
) A1 62010 |2,880,0009= 2,880
3) s 111,988
7h ¥ 620-03 |50,553,0009= 50,553
W) AR 620—10 |61,435,0009= 61,435
A S35 38,956 36,016 2,940
AL A d 38,956 36,016 2,940
1. A=AS 3] A d 5,360 5,360 0
7} A=A S o) 3] 5,360
1) &Az=ut 210-01 |100,0009 % 14} x 13]= 100
2) A 310-01 |200,0009lx 108 = 2,000
3) &7 2,760
7h 258w 620-03 |92,0009 % 157 x 13]= 1,380
W) =stw 620—03 |92,0009 X159 x18]= 1,380
4) SAFEF 210-01 |20,0009 X 25% x13]= 500
2. A= dAS 8l 13,600 12,600 1,000
7} A=A d Sl s 13,600
1) Aen% 310-01 |200,0009x 158 = 3,000
2) &7 10,600
7h s 620-03 |53,0009 x 25T x 43]= 5,300
) =stw 620—03 |53,0009 X257 x43]= 5,300
3. 71 A S 3] 19,996 18,056 1,940
7} w57l o) 3 5,200
D wAd LS g 2,000
7h 214] 210-04 |8,000€ x 1509 x13]= 1,200
W j}alzot];‘(]-é 210-07 |500,0009 x 1t x13]= 500
o 98 210-01 |50,0009 X 3% x23]= 300
2) %?ﬁﬂoﬂ] 310-01 |40,0009 %80 x 18]= 3,200
v w57l o) 8 10,476
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(9] - )

1=
= Arelued E-A% A 2019% (A) (A-B)

1) &t 3] 4,796
7h A} EA| 2 210-01 |5,0009x100%x18]= 500
) Aggd 210-06 |40,0009 %27 x13]= 1,080
thH 214 310-01 |8,0009x27% x13]= 216
2} E=Z 3] A 2t 210-01 |100,0009 x 187} x 13]= 1,800
n}) $-27) 72 210-01 |200,0009 x 47} x 18]= 800
up) Sogx 210-01 |50,0009 x 8% x13]= 400
2) T3] 3,460
7h) Az 210-01 |5,000€ X 150%-x 13]= 750
(BOIR Eatels 210-01 |100,00091x24] x 13]= 200
oh Aggy 210-06 |40,0009 %207 x 13]= 800
2} 214) 310-01 [8,00091x20%= 160
up) oA = 210-01 |7,0009x1507] x 18]= 1,050
v ¢ eE 210-01 |50,000¢1x10% x 13]= 500
3) M3 2,220
7h A5 A 2 210-01 |4,000¢ x100%-x13]= 400
) Aggd 210-06 |40,0009 %15 x138]= 600
th 214 310-01 |8,0009x15% x13]= 120
2h) Ez )4zt 210-01 |150,0009 x47) x 18]= 600
up) L eE 210-01 |50,0009 x10% x18]= 500
o} S AHA S 8] 4320
1) Awey 21006 |40,000€1 X 9% x 23] = 720
2) 2] 210-04 |8,00091x150™ x 13]= 1,200
3) 7+4H] 210-04 |3,00091x1507 x 13]= 450
4) A 210-01 |200,0009 X 8% x18]= 1,600
5) S99 210-01 |50,0009l x 7% x13]= 350

33,688,373 2,249,061

23,286,225 2,162,715

X Pl 23,286,225 2,162,715

S M 23,125,618 2,372,951
7F Fr A 620-02 |1,985,874,000¢1= 1,985,874
U xEsy 620-02 |15,280,212,0009= 15,280,212
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(2] - 2
= o)
?}Zj E{;j fg AR == AbE ol 20199 (A) | 2018d(B) | Z7(A-B)

o} St 620—02 |5,859,532,0004 = 5,859,532
2. 7| ek u|x Y 160,607 370,843 A210,236

7}, wEskso AN 160,607

1) 258w (31) 620—-04 |135,695,0009= 135,695

2) 15w (1) 620-04 |24,912,00091= 24,912
A A A A A 10,402,148 10,315,802 86,346
1z ZH’S‘@?}XI% 8,927,860 8,802,030 125,830
AN AR AT R Z 8,927,860 8,802,030 125,830

7} o1 A1) %] 9 620—08 |8,927,860,0004 = 8,927,860
LG AAF AR L 1,474,288 1,513,772 £39,484
TIARZETgRZE 1,456,698 1,380,646 76,052

7}, 7| B8 H| 620-09 |1,456,698,00091= 1,456,698
2. A et n 7 ele-gn| XY 17,590 133,126 115,536

7} nskGol AN 17,590

1) Fstw (21) 620-10 |17,590,0009= 17,590
Sty WS ANKAA 26,046,347 21,999,166 4,047,181
A uj x| A2 1,900,070 2,503,644 A603,574
P AZA 1,900,070 2,503,644 £603,574
1. 8324 1,900,070 2,503,644 A603,574

7h A Al A u A SA 742,361

1) AAn] 420-02 |669,700,0009] X5.499%= 36,826

2) AAdn) 669,700

7hH nAEE= 420-03 |132,710,0009 x 24 = 265,420

W A== 420—03 |127,140,0009 x 24 = 254,280

) 7R 73U E A AR] 420-03 |150,000,000¢ X 12]= 150,000

3) 7+aln] 420-04 |669,700,0009 X 1.372%= 9,188

4) AAQRH) 420-05 |669,700,000¢ X0.694%= 4,647

5) U5-H]Zn) 620—-03 [11,000,000¢ x 221 = 22,000

U Ak e A 733,111

1) AAM) 420-02 |661,100,0009 X5.499%= 36,353

2) A]dn] 661,100

7h wASE 420-03 |132,710,000¢ x 221 = 265,420

o —_
ot 2551

& — T TAAMNAAAE — ST AA — SFpaAZA

ps = 1 = 1 O
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R e ST e Rk GEOREE)
B ! (=) A o
T felae | il T
A [Z] B _ & A=) o 14 14 Z7F (A —
% A]’ﬁ /\]—CQ /\]—C{j ]"ﬁ"H =1 = ﬂ = LE]’H = 2019 sl (A) 2018 sl (B) [PRh=! (A B)
W A== 420-03 [127,140,0009 x 1A= 127,140
) A== 420-03 |59,270,0009 x 24 = 118,540
=5 =5
) 7| 2R 73U E A AR 420-03 |150,000,0009 X 14]= 150,000
3) #&H] 420-04 |661,100,0009 X 1.372%= 9,070
4) A F] 420-05 |661,100,000¢ X 0.694%= 4,588
5) WHH]EH] 620—03 |11,000,0009 x 22 = 22,000
o}, Ak S A A AT 84,417
1) AAN] 420-02 | 58,480,000 X5.682%= 3,322
2) A1Adn] 58,480
7hH W =% 420-03 [1,910,0009 x 341 = 5,730
) whggAd (i aEsh) 420-03 |15,960,000¢ x 24 = 31,920
oh) wieeA 420-03 |11,830,0009 x 121= 11,830
2 FFAA 420—-03 [3,000,000¢ x 34 = 9,000
3) Al E i8] 420-05 |58,480,0009 X 1.052%= 615
4) H-8]En) 620-03 |11,000,0009 x 22 = 22,000
o FR2HTA JioIel
1) A AN 42002 |318,480,0009 X6.094%= 19,408
2) A]Adn] 318,480
7hH wAFEA 420-03 79,620,000 x4 = 318,480
3) Al F-H] 420-05 |318,480,0009 X0.72%= 2,293
St ANA| A 525,633 620,729 295,006
S A|EASINE 525,633 620,729 195,096
1. AFFH 525,633 430,723 94,910
4 M e B S e 444,790
1) A AN 420-02 |411,420,0009 X5.913%= 24,327
2) Aldn] 411,420
7h AN Z= 420-03 [127,140,0009 X321 = 381,420
W) 7| Z2=R7} 420-03 |30,000,0009 X 12]= 30,000
3) #&]n] 420-04 |411,420,0009 X 1.478%= 6,081
4) AR 420-05 |411,420,000%) X0.72%= 2,962
U FExAdE2ES 80,843
1) AAH] 420-02 |73,696,0009 % 8.703%= 6,414

Frotl 2SS — SRUFAAMNAAAE - St AR - SuAES NS 42/68




(9] - )

o 1=
3?.3 fg DR E_A= Az 20199(A) | 20184 (B) (A-B)

2) Aldy] 73,696

7hH AdE2EEFIA} 420-03 |1,678,000¢ X 32m'= 53,696

W 7N xR 420-03 |20,000,0009 x 1= 20,000

3) A5ty 420-05 |73,696,000€1 X0.995%= 733
TEERFNAAAE 23,620,644 18,874,793 4,745,851
St A A W& AN 23,620,644 18,874,793 4,745,851
1. A=A 10,302,590 6,659,943 3,642,647

7} wpet g 2 915,687

1) A]dn] 908,735

7hH FAbaEx 420-03 [8,090,0009 x 4= 32,360

W FAksx 420-03 |20,160,0009 x12= 20,160

o Yz 420-03 [8,090,0009 X 5.5 = 44,495

2p) tokx 420-03 |15,960,0009 x8.54 = 135,660

v FEF 420-03 136,000,0009 x 121= 36,000

Hh) Az 420-03 [15,960,0009 x 32 = 47,880

AP 2Abz 420-03 |15,160,0009 x821= 121,280

o AFZASEH) 420-03 |15,160,00091 x 124 = 181,920

2p b () 420-03 |20,160,0009) x 241 = 40,320

2P FAE = 420-03 |2,967,0009 x 8.5 = 25,220

7h 95 () 420-03 |15,960,000¢ x 92 = 143,640

B d35 &) 420-03 |15,960,000¢ x 22 = 31,920

u}) shEal 420-03 |15,960,0009 X324 = 47,880

2) A5ty 420-05 |908,735,00091 X0.765%= 6,952

uh S-S WA 4,636,053

1) A AN 420-02 [4,610,111,000¢ X0.303%= 14,110

2) Ay 4,610,111

7h w3z 420-03 |21,020,0009 % 214 = 441,420

W) S9EE 353 420-03 |21,020,0009 x10.54= 220,710

o YEx 420-03 |21,020,0009) % 16.52= 346,830

2h) djobdhx (E#, %) 420-03 |21,020,0009 x 42 = 84,080

uh) wAkx 420-03 [21,020,0009 X 184= 378,360

up oy % 420-03 |21,020,0009 x 3.5 = 73,570
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AU e E—ilE AHEU S 2019 (A)
oz 420-03 |21,020,0009 x 264 = 546,520
AEZ(WFY) 620-04 |5,600,0009 %12 = 5,600
Tz 420-03 |21,020,0009 X 324= 672,640
Idx 420-03 |21,020,0009 x1624= 336,320
TARSE () 620—04 |9,750,0009 x 12]= 9,750
Ep) Akl T (ES E RN 420-03 |13,026,0009 X 14)= 13,026
) AA = Z 420-03 |21,020,0009 x 2241 = 42,040
3h) A= (FHD) 420-03 [21,020,0009 x8.54= 178,670
AP 420-03 |21,020,000¢ X232 = 483,460
HNEF(EHFH) 420-03 |21,020,0009 x14.54= 304,790
U3 420-03 [21,020,0009 x 74 = 147,140
AEF(Ee~833) 420-03 [17,310,0009 x11.54= 199,065
4= 420-03 |21,020,0009 X624 = 126,120
A Efjn) 420-05 [4,610,111,000€ X0.257%= 11,832
ESPE ST A 1,011,260
1) Al4dH] 1,004,210
7hH FAEG 2 (A AEAR) 420-03 [3,470,00091 X194 = 65,930
W) SR (EIHD 420-03 |2,170,0009 x 212 = 45,570
ohH FAREx (D 420-03 |2,170,0009 X 72 = 15,190
th) AR = (A EYE) 420-03 |3,470,0009 x 282 = 97,160
b ke (wAES 420-03 |5,640,0009 % 202 = 112,800
vh) AR EE (Ao 420-03 13,910,000¢ x 154 = 58,650
AP AR Z (A ES] 420-03 |3,470,0009) X 7.5 = 26,025
o) ARG (wAEY 420-03 |3,470,0009 % 2454 = 85,015
THE(EYD) 420-03 |2,170,0009 x 241 = 4,340
NGy 420-03 |2,170,00091 X 8.5 = 18,445
UIZ X (ZAEYE oJdo]R) 420-03 |1,740,0009 x54= 8,700
SEE (T 420-03 |2,170,0009 X 163 = 34,720
Hobadx= (R &) 420-03 |3,470,0009 x 24 = 6,940
okx (7 420-03 |2,170,0009 X 2041 = 43,400
gz (T 420-03 |2,170,00091 x 32 = 6,510
LS 420-03 [2,170,0009 X194 = 41,230
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= (9] - e
i=] 1= 7 o 1=
ol e ?}Zj 3?.3 fg Adu el E-AE A& 20199 (A) | 2018€(B) | #7HA-B)

o) 12 (EED 420-03 |2,170,00090 X 154 = 32,550

) & (ED) 420-03 |3,470,00091 x 142 = 48,580

W) = (1) 420-03 [2,170,0009 X 8.5 = 18,445

H) I (ZYE) 420-03 |2,170,000¢] x 8= 17,360

A FARG S 420-03 |1,740,0009 x 82 = 13,920

o)) €8 (d8E,L12) 420-03 |1,740,00091 x 74 = 12,180

A) E9F D) 420-03 |3,470,0009 x 12 = 3,470

) TAREF (T, T HEEUD) 420-03 [1,740,0009 x11.54= 20,010

) TAREF (3, 1) 420-03 |2,170,0009 X 6.52= 14,105

H) YrxF (YD) 420-03 |1,740,0009 x5.54 = 9,570

) YEZ (T 420-03 |2,170,0009 x 112= 23,870

&) AL (FHE) 420-03 |2,170,0009 x 21.54 = 46,655

) AP (A EYE) 420-03 [3,470,0009 x 214 = 72,870

2) Al 42005 |1,004,210,0009 X 0.702%= 7,050

2}, w< 1,148,679

1) Al4dH] 1,140,739

7h Axx 420-03 |9,330,0009 x 724 = 65,310

) vz 420-03 |9,330,000¢] x 821 = 74,640

o = 420-03 19,330,0009 x 62 = 55,980

o) AlEx 420-03 19,330,0009 x 1= 9,330

uh) Az 420-03 9,330,000 x 72 = 65,310

v A X 420-03 3,890,000 x 24 = 7,780

AR AR 2 420-03 [9,330,0009 x 34 = 27,990

oh) A E = 420-03 |9,330,0009 x 12 = 9,330

AP thok Ak w (52 4]) 420-03 |9,330,0009 x 241 = 18,660

21 Sz 420—-03 |3,890,0009 x 34 = 11,670

7hH A= 420-03 9,330,000 x34= 27,990

EhH #Ahg= 24 420-03 [9,330,000¢ x 24 = 18,660

) FAPEE (3,5 9) 420-03 |4,303,0009 X 11.54 = 49.485

sh) A SF (353 420-03 |9,330,0009 X741 = 65,310

) AR EF (-3 420-03 |4,303,0009 x 74 = 30,121

Y) 2= (E) 420-03 |4,303,0009 x 44 = 17,212
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= (9] - e
B =) e S H
ol e f}g 3?.3 fg Adu el E-AE A& 20199 (A) | 2018€(B) | #7HA-B)
o) A (Fska) 420-03 |4,303,0009 X 4.5% = 19,364
2]) Ak (Eeteh 420-03 19,330,0009 X 621= 55,980
W) A ARSI (7] S5AE L)) 420-03 |4,303,0009x5.5%= 23,667
W) FAAS 1 (7)1 S5AHSAD 420-03 |9,330,000¢ x 222 = 205,260
) Ak A (B354 420-03 |9,330,0009 x 104 = 93,300
o]) Ak 1 (TFEA 73 9] H) 420-03 |4,303,0009x1.54= 6,455
A) TAR AL 420-03 |9,330,0009 x 72 = 65,310
) A& (EH A 420-03 |9,330,00091x8.54= 79,305
7)) FAE sk 420-03 19,330,000 x 42 = 37,320
2) A5ty 420-05 |1,140,739,0009 X0.696%= 7,940
ul, QH 5= 299,081
1) A AN 420-02 |282,556,0009 X5.243%= 14,815
2) AJAH] 282,556
7h b E (AEE) 42003 |71,0009 X 260m= 18,460
) djopdx 420-03 |13,383,0009 %52 = 66,915
H A= 420-03 |13,383,0009 x421= 53,532
h) g 420—03 |11,877,0009 x12]= 11,877
uh) AN 420-03 |13,383,0009 x84 = 107,064
v FARES (B3 (%) 420-03 |71,0009 x 348m= 24,708
3) A5ty 420-05 |282,556,0009 X 0.605%= 1,710
vp w1 332,927
1) AN 420-02 [313,446,0009 X5.65%= 17,710
2) Ay 313,446
7h AR 2 420-03 |160,000,0009 x14]= 160,000
W) Az ) 420-03 |100,000,000¢ x 12]= 100,000
h AR (D) 420-03 |53,446,0009 x 1= 53,446
3) At 420-05 |313,446,0009] X0.565%= 1,771
Ab A A 1,502,749
1) el e 176,114
7h A Am] 420-02 |165,155,0009) X5.853%= 9,667
LP) AJAH] 165,155
(1) Ex=FE521YD 420-03 | 165,155,000 x 12]= 165,155
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(9] - )

1= 1=
= fg AR & A2 20199(A) | 20189(B) | Z%(A-B)
hH AlARH] 420-05 [165,155,0009 X0.782%= 1,292
2) WA EEH 1,326,635
71 A Am] 420-02 |1,267,196,0009 % 4.178%= 52,950
) Al 1,267,196
(1) Y223 A 420-03 59,330,000 x 12]= 59,330
(2) =P HA) 420-03 |79,620,000¢1 X 14 = 79,620
(3) ¥ArE (A 420-03 | 265,405,000 x 12 = 265,405
4) Y533 420-03 |404,860,0009 X 12]= 404,860
(5) Ak (2] A& 420-03 |371,711,0009 x 124 = 371,711
(6) FAME () 420-03 |86,270,0009 x 14]= 86,270
h AJAdEin) 420-05 |1,267,196,0009 X0.512%= 6,489
o} =% 456,154
1) AldH] 452,866
7h AR E () 420-03 |1,910,0009 x 34.52 = 65,895
) AR () 420-03 |1,910,0009 x5 = 9,550
oh AbEE (W21 420-03 |1,910,000¢ x 4941 = 93,590
2 FARHES (W5 420-03 |590,0009¢ X694 = 40,710
v FAFELE(9H) 420—-03 |530,0009 X662 = 35,000
vh) TAR] 31 (E A Ek) 420-03 |22,526,0009 x 12]= 22,526
AP Ak A (U 9 ) 420-03 |2,500,0009] X 63.54 = 158,750
op) AP (2 420-03 [590,000¢] X 45.52= 26,845
2) A5ty 420-05 |452,866,000¢] X0.726%= 3,288
LB AAA 224,169 19,640 204,529
7} ER AN 63,490
1) A& (101 420-03 |10,090,0009 % 12]= 10,090
2) A% (201) 420-03 |16,610,0009 x 24 = 33,220
3) F¢x(101) 420-03 |10,090,0009 x 14]= 10,090
4) 5% (101) 420-03 |10,090,00091 x 14]= 10,090
15 =l e kg | 67,470
1) AREskx 420—-03 |173,0009 X 150m= 25,950
2) 2¥x 420-03 |173,000¢ X 240m= 41,520
ok 5 93,209
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713 - A B AR S 1] 9 (o] A9)
i=] =] 7 o 1=
ol e ?}Zj 3?.3 fg Adu el E-AE A& 20199 (A) | 2018€(B) | #7HA-B)
1) Al 91,600
7hH AR a2 420-03 |22,900,000¢ X 27 2= 45,800
W) tjopdx 420-03 122,900,000 X 17} 2= 22,900
oh sk=a1 420-03 |22,900,0009 X 17 2= 22,900
2) AldH-tn] 420-05 |91,600,0009 X 1.756%= 1,609
3.9 - A AN 2,265,851 909,268 1,356,583
7ho s AR 2,265,851
1) Al4dn] 2,257,340
7h wiohA 420-03 |7,310,0009 x 1241= 87,720
W} $8EA-A4 420-03 |7,310,0009 x 144 = 102,340
|20 B e 420-03 |7,310,0009) x51 4= 372,810
b TAIE % 420-03 |7,310,0009 x 42 = 29,240
uh FARE X 420-03 [7,310,0009 x 142 = 102,340
v AR % 420-03 |7,310,0009) X642 = 467,840
AP mlEX 420-03 |7,310,0009 x 322 = 233,920
oh) A¥X 420—-03 |7,310,0009) x 164 = 116,960
2 gz 420-03 |4,520,0009 X 32 = 13,560
Zh) tjokx 420-03 [7,310,0009 x 421 = 29,240
7H &% 420—03 7,310,000 x 74 = 51,170
Ep) 0% (HAY) 420-03 |7,310,0009 x 221 = 14,620
) AR (AHEF) 420—03 |4,520,0009 x84 = 36,160
3P AP (B Ao a5 420-03 |7,310,000¢ x 324 = 233,920
) STE 420-03 |7,310,0009 x 2524 = 182,750
) Ak 420-03 |7,310,0009 x 252 = 182,750
2) A5ty 420-05 |2,257,340,0009 X0.377%= 8,511
4. SAAEAMNA 45,868 60,000 A14,132
A e i | 45,868
1) AlAdH] 45,368
7h A 420-03 |10,000,0009 x 1 /4= 10,000
) Wahetw (3,8 42003 |854,00091 x 422 = 35,868
5. AlAgkANA 3,530,246 5,297,806 21,767,560
7 W B A 445,000
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(] - 24)

At e E—ilE A=l 20194 (A) 20184 (B) S (A-B)

1) WX s 7] 445,000
7h aknAd % 420-02 |55,000,000¢ x 14]= 55,000
W) ~28x 420-02 |29,000,000¢ X 12]= 29,000
oH Az (F3F) 420—-02 |29,000,0009 x12= 29,000
2h) Hyxx 420-02 |29,000,0009 x 12]= 29,000
b AR (A1) 420-02 |26,000,0009 X 14)= 26,000
v FAbEE (S dE) 420-02 |29,000,000¢ x22]= 58,000
Ap E9%F 420-02 |29,000,0009 X 14 = 29,000
o 3& % 420-02 |29,000,000¢ X 12]= 29,000
2 st (g 420-02 |26,000,0009 x12]= 26,000
2p) = (THEA ) 420-02 |29,000,0009¢1 x 14]= 29,000
7h st=3 () 420-02 |39,900,00091 x 14]= 39,900
Ep) 1akoiar 420-02 |29,000,0009 x 14]= 29,000
g A& 420—-02 |37,100,0009 x12]= 37,100
A7 (A1) oA 1,571,878
1) AAM] 63,786
71 A Am] 420-02 |1,500,600,0009 % 4.251%= 63,786
2) A1/ 1,500,600
7h A& 420-03 |11,040,0009 X 30.524 = 336,720
W) s 420-03 |14,640,0009 x4.521= 65,880
oh FA 420-03 |14,640,0009 %304 = 439,200
2h) ks 420-03 | 14,640,000 x 274 = 395,280
w}) 4 3}sk 420-03 |14,640,0009 x 18241= 263,520
3) Aty 42005 |1,500,600,0009 X 0.499%= 7,492
= A s e 30,988
1) Aldn) 30,988
7h ANEZ(EHAE) 420-03 |4,0009 X 66m'= 264
) AR =E (A E/30) 420-03 |4,0009 % 36m'= 144
o 2% 420-03 |4,0009x41m= 164
) 8% 420-03 |4,0009x2,100m'= 8,400
") Fdx 420-03 [4,0009 %81 m= 324
np Ak (28 420-03 |4,0009%2,315m'= 9,260
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s
At e = A=l 20194 (A) 20184 (B) (A-B)
AP Ak (Seth) 420-03 |4,0009 % 1,002m'= 4,008
ob) A Al E L 420-03 |4,0009x2,106m'= 8,424
2t 7|EfH.4 238,781
1) PG AR S 101,096
7P tlokx 420-03 |36,000,0009 x 12]= 36,000
W) A 420-03 |124,0009 X 65m= 8,060
o A 420-03 |57,000¢9 X 348m= 19,836
th) A& 420-03 |124,000¢ X 300m= 37,200
2) AlerT 86,085
7h AAEZ (FA YD) 420-03 |19,130,0009 x 1= 19,130
W) gz 420-03 [19,130,0009 x3.54= 66,955
3) Wk R U A o)A 1,600
7h M55 (33 620-04 |1,600,0009 % 17)2= 1,600
4) A E A 40,000
7h BExx 420-03 |8,000,000¢ X 37 2= 24,000
W ez 420-03 |8,000,000¢] X 27 &= 16,000
5) ZHHE X w A 10,000
7hH AEx 420—-03 |10,000,0009 x12= 10,000
nf Az Ee 430,375
1) AN 420-02 [400,413,0009 X 6.756%= 27,053
2) A4 400,413
7h SdxH A 420-03 |192,677,0009 x14= 192,677
) A G 420-03 |207,736,0009 x 14]= 207,736
3) AldFin] 420-05 |400,413,0009 X0.726%= 2,909
ub, ApE ShA g A A 56,666
1) AlAdH] 56,666
7 sk x 420-03 |977,000€ x 582 = 56,666
AL EglolH| E 756,558
1) A2 756,558
7h A 2 (5 420-03 |12,596,0009x 1241 = 151,152
W) XxF (S F1h 420-03 [12,596,0009 x4841= 605,406
6. 273N 1,975,282 1,001,875 973,407
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At e E—ilE A=) 20194 (A)

7} 7% 451,955
1) AN 420-02 [427,870,0009 X5.237%= 22,407
2) A4 427,870
7h A% 420-03 |242,0009 X 100m'= 24,200
W) HARES R 420-03 |242,0009 X 250m'= 60,500
) FE5x 420—-03 |93,0009 X 1,840m'= 171,120
o 8= 420-03 |93,000¢ X950m'= 88,350
v YxES 420-03 |93,000¢ X 900m'= 83,700
3) A5t 42005 |427,870,0009 X 0.392%= 1,678
L, vl E 269,423
1) AN 420-02 |254,624,0009 x5.118%= 13,032
2) AlAdH] 254,624
7h St x 420-03 |292,0009 X 100m= 29,200
) bz 420-03 |292,0009 X 20m= 5,840
) AFES 420-03 |292,0009 X 150m= 43,800
b A 420-03 |292,00091 X 100m= 29,200
uh) TR 420-03 |292,0009 X 150m= 43,800
nh A& 420-03 [292,000€ X 200m= 58,400
AP A 5k 420-03 |292,0009 X 152m= 44,384
3) A5ty 420-05 |254,624,0009 x0.674%= 1,767
T} 9-E A 155,113
1) TAbsx 420-03 |7,0009x5,589m'= 39,123
2) Ak x 420—-03 |7,000€ %6,930m'= 48,510
3) = 420-03 |7,0009 % 3,640m'= 25,480
4) T EF 420-03 |7,0009 X 6,000m'= 42,000
2 AdEE 293,820
1) Al4dH] 293,820
7hH % 420-03 |1,660,0009 X 70m= 116,200
W) AR EE R 420-03 |1,660,000¢ X 20m= 33,200
o) YaxEx 420—-03 |1,660,0009 x 14m= 23,240
oh) m|Ex 420-03 |1,660,000€ x 30m= 49,800
uh) Zo % 420-03 |1,660,0009 X 12m= 19,920
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(9] - )

1=
fg Adu el E-AE A& 20199 (A) | 2018€(B) | #7HA-B)

vh) AL 420-03 |1,660,0009 X 31m= 51,460
vt @ A=A 164,684
1) AAH] 420-02 | 154,560,0009 X 6.55%= 10,124
2) A1AdH] 154,560
7h AEX 420-03 |96,0009 X 220m= 21,120
) A 420-03 |96,0009 X 650m= 62,400

132 5 i) kel = 420-03 |96,0009] X540m= 51,840
th) A¥x 420-03 |96,000€9 X 200m= 19,200
L] = rts 84,798
1) A]4dH] 84,798
7h A % 420—-03 |514,0009 X72m= 37,008
) thopdx 420-03 |354,0009 X 80m= 28,320
oh) ko ar 420—-03 |354,0009 X 55m= 19,470
A}, AEIE 120,939
1) A AN 420—-02 |113,390,0009 X 6.657%= 7,549
2) A1/ 113,390
7h kA= 420—-03 |113,390,0009 x 12 = 113,390
of, HAE e 25,000
1) A]4dn] 25,000
7h Aoz 420-03 |25,000,0009 X 1 2= 25,000
Ab WA 90,090
1) Al4dn] 90,090
7 b= 420-03 |30,030,0009 % 12]= 30,030
W) A 420-03 |30,030,0009 x 22]= 60,060
A} ZAAPH R 42,420
1) AlAdH] 42,420
7h M= 420-03 |33,000€9 xX300m'= 9,900
W) FARE S 420-03 |542,0009 X 60m'= 32,520
b AR 145,200
1) AlAdH] 145,200
7P EARRperE 420-03 |242,0009 X 600m'= 145,200
Bl @7 skl 9 10,000

g
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s
At e = A=l 20194 (A) 20184 (B) (A-B)
1) Al 10,000
7h 4% 420-03 |10,000,0009 % 12]= 10,000
3}, A kG Ash A 121,840
1) A]4dn] 121,840
7h Absx 420-03 |121,840,0009 x14]= 121,840
7. A7 AN 2,072,752 1,452,956 619,796

7} 2" A1 (LED) 1,220,544
1) Al4dn] 1,214,760
7h Ak &= 420-03 |3,820,0009 % 621 = 22,920
W AlebE= 420-03 |3,820,0009 x 494 = 187,180
o) ake 420-03 |3,820,0009) x 452 = 171,900
o) 8% 420-03 |3,820,00091x19.54= 74,490
) S7x 420—03 |3,820,0009 x 42 = 15,280
vh) ZEZx 420-03 | 3,820,000 x 462 = 175,720
AD AR B (B A 420-03 |3,820,0009 % 23.54 = 89,770
op) A E % 420-03 |3,820,0009 x 30.541= 116,510
2P 3= 420-03 |3,820,0009 x 152 = 57,300
b AP 420-03 |3,820,0009 X 302 = 114,600
7h absar 420-03 [3,820,0009 x 2741 = 103,140
Ep =11 420-03 |3,820,0009 x 4.5 = 17,190
g} FAkEskew 420—-03 3,820,000 x 184 = 68,760
2) A5ty 420-05 |1,214,760,0009 % 0.476%= 5,784
w A zrg AN 413,708
1) Al4dn] 412,000
7hH A=z 420-03 |60,000,000¢ x 14]= 60,000
) AR 420-03 |1,000,0009 x 327}= 32,000
o Ak % 420-03 |30,000,000¢1 x 12]= 30,000
2} olu]== 420-03 |32,000,00091 x 12]= 32,000
v FARE S 420-03 |70,000,000¢ X 12]= 70,000
v AR 420-03 |78,000,000¢ X 12]= 78,000
AP AR AL 420-03 |50,000,0009 % 14= 50,000
oh) ARSI 420-03 |60,000,0009 x 1= 60,000
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At e E—ilE A=l 20194 (A) 20184 (B)

2) A5t 420-05 |412,000,0009X0.417%= 1,708
o} A e 38,500
1) AlAdn] 38,500
7h AhEskx 420-03 |38,500,0009 x12]= 38,500
S RCIRTAR PR oty 400,000
D) HFE7E5 (1124) 420-03 |400,000,0009 x 14]= 400,000

8. AANYUAETE T 15,600 416,250
7}, AT A 15,600
D = 620-04 |1,400,0009 %72 = 9,800
2) AEZ 620-04 |1,400,000¢ X 221 = 2,800
3) Y9z 620—04 |1,400,0009 x14= 1,400
4) AEF 620-04 |1,600,0009 % 12]= 1,600

9. sP3AANA 1,706,616 2,274,669
7} s A 1,706,616
1) A AN 420-02 |1,597,860,0009 X 6.334%= 101,214
2) A1/ 1,597,860
7P v-x 420-03 |1,030,0009 X 102 = 10,300
W) 3= 420-03 193,5670,0009 x 32 = 280,710
oh AFxCET) 420-03 [86,270,0009 x 141= 86,270
2h) Az () 420-03 |6,400,000¢) x 22 = 12,800
nh) S5 420-03 |86,270,0009 x 421 = 345,080
v S9% 420-03 |86,270,000¢ x 1= 86,270
A AdAakx 420-03 |86,270,00094 x 1= 86,270
oh) A&F 420-03 |86,270,0009 x 4.5 = 388,215
) A& () 420-03 |86,270,000¢ x 3.5 = 301,945
3) A5t 420-05 |1,597,860,0009 X 0.472%= 7,542

10. A=A (AFR) 442,440 204,500
7} e R 119,700
1) Al 119,700
7h = 620—11 |15,960,0009 x7.54= 119,700
. E 14,850
1) A]4dn] 14,850

- THARANAANE — SFTALLEBA A

g
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(9] - )

1=
ﬂ?d: AHgigel A% Az 20199 (A) | 2018€(B) | Z=7(A-B)
7h 934 620—11 |900,000€ X 16.54= 14,850
=i 307,890
1) AlAdn] 307,890
7hH AL 62011 |9,330,0009 x 154 = 139,950
W) 9= 620—11 19,330,000 x 184 = 167,940
11. F=A AN (AH) 23,930 0 23,930
4 =t e iR | 23,930
1) Al4dn] 23,930
7h 4t 3% (F 8 A10ton) 62011 |10,090,0009 x12= 10,090
W) AR S (=9)]) 620—11 |173,000¢ X 80m= 13,840
12. 9§ - HEAEANA (AF) 299,710 0 299,710
7F - A A 299,710
1) Ay 299,710
7h AR T (R A1) 62011 |7,310,00041 62 = 43,860

W) FAAA S (ER EHTAS) 620—11 |7,310,000€ %104 = 73,100

h ARG E (EE5E ) 620—11 |7,310,0009 X 74= 51,170

g2h) TAbEdE 620—11 |7,310,00091 x 184]= 131,580
13. BAAANA (AHH) 62,342 0 62,342

7} BRI 62,342

1) Al4dn] 62,342

7h o= 620—11 |854,0009x73%4= 62,342
14. AJ2BANA (AHR) 331,272 385,366 254,094

7} 7 (A ) A 286,200

1) A2y 286,200

7h At d T (G A g 620—11 [11,040,0009 x 124= 132,480

) Aok (P Al 2 g 620—-11 |14,640,000¢x10.5%= 153,720

= AR s e 1,072

1) AlAdH] 1,072

7 FAA = 620—11 |4,0009 X 268m'= 1,072

o x2S 44,000

1) W15 7] 44,000

7hH FAA L= 620—11 |44,000,0009 x14= 44,000
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(9 - d9)
=] =) = =N o B
:ﬁ: g f};j 3?.3 fg AF i =—A= Ao 2019€(A) | 2018dB) | F%(A-B)

15. 58374 (AFD) 106,621 0 106,621

7} g2 37,960

1) Al 37,960

7hH g = 620—11 |292,000¢ X 130m= 37,960

. e sx 68.661

1) Al4dn] 68.661

7hH Ad=F 620—11 |68,661,0009 x 12]= 68,661
16. AZIAAAA AHD 85,950 192,520 106,570

7} 2 A1 (LED) 85,950

1) A]4dH] 85,950

7h AT () 620—11 |3,820,000¢1 % 22.54= 85,950
17. PN (AFD 129,405 0 129,405

7t s A 129,405

1) AlAdH] 129,405

7h FAALF 620—11 |86,270,00091x 1.54= 129,405
FA - Adus 196,574 175,884 20,690
HYAS 196,574 175,884 20,690
HA XSS A ¢ 196,574 175,884 20,690
HRARA AL EFA A 196,574 175,884 20,690
1. HAWS-TFA A 1,000 500 500

7} B A SRS EA| 2] 3] 210—02 [1,000,000¢¥ x13]= 1,000
2. FEAZA XA 191,274 170,844 20,430

7} 7R gk st 191,274

1) ¢ja+= 320-01 |13,5009 %60 x 15]= 810

2) Y= 320-01 |68,1009x120% x12¥= 98,064

3) o17n] 320-01 |700,0009x11% x129= 92,400
3. FRAEZXRAAE LY 2,466 2,900 2434

7}, A 210-06 |80,0009 X 6™ x 43]= 1,920

U}, 7-208) 310-01 |3,0009 %117 x 28]= 66

o} 98 210-01 |50,0009 X 3% % 13]= 150

2} 93] 230—02 |15,0009 X119 x23]= 330
4, FADAHALELGA Y 1,834 1,640 194
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(9] - )

1=} 1=}
i) jg Apejujel =on= Az 20199€(A) | 20184 (B) | =X(A-B)
7}, 7421 310-01 |3,0009 X167 x33]= 144
U eHe 210-02 | 2,0009 X 500%= 1,000
t} A3l a &+ 210-02 40,0009 x129= 480
SRS P4 210-01 | 30,0009 X 7% x 13]= 210
4,934,024 3,818,832 1,115,192
4,355,040 3,145,124 1,209,916
RS RS E e 13,755 13,775 220
St 10,400 10,400 0
L. FoAFAgTEFR 10,400 10,400 0
7h FR A AL 2,000
1) zpEA1= 210-01 |10,000¢] X 50%-x 38]= 1,500
9) $18F 210-01 |25,0009) X 10% x 23] = 500
L AR A 8 8,400
1) A=A 2F 210-01 |10,00091 x570%x13]= 5,700
2) (b 500
7h 7] 210-06 |160,0009¢ %27 x 13]= 320
W =3 210-06 |90,000€l X 17 X 24| 7k= 180
3) AESD 210-06 | 40,0009 %57 x13]= 200
4) 2n] 310-01 |8,0009x100%= 800
5) AAlelxta 210-07 [800,00091 %14 x13]= 800
6) $98= 210-01 |20,0009 X10% x23]= 400
el uSdH A 3,355 3,375 A20
1. ZS5EHAAA LAY 2,340 2,360 220
7h WS A A A = 9] 2 3] 2,340
D ¥+ 210-06 |80,00091 X9 x 28] = 1,440
2) ALLE 210-01 |50,00091 X9 x 28] = 900
2. ASA LA TS EHA Y 1,015 1,015 0
7k S HHA A 1,015
1) 2p= Az 210-01 |7,00091 % 30% < 15]= 210
2) $ogE 210-01 20,0009 X 10% x 28] = 400
3) & 93] 230-02 |15,0009 %27 x 138]= 405
AEHAFR 3,420 3,420 0
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% (9] - )

1=}
jg Apejujel e -1 N 20199(A) | 20189 (B) | Z7(A-B)

TEARAAZH 3,420 3,420 0
1. TS FRPELL 3,420 3,420 0

7h A S A A AR 3,420

1) A=A = 210-01 |5,5009 X 500%-x 18]= 2,750

2) HETY 210-06 |40,000€ X474 x 23]= 320

3) 9o 9E 210-01 |20,000¢ x5% x28)= 200

4) ¥ 9] 3] 230-02 |15,0009 x5 x 23]= 150
7,917 7,900 17
ZIA ) 7,917 7,900 17
1. A ZEAL 1,395 1,380 15

7}, A =] 250-04 |5,000€ x 38 X 933]= 1,395
2. TR LY H 4733 6,522 6,520 2

7h R A Y ] o A sk 3,662

1) A=A 2F 210-01 |9,000¢ x100%-x 23] = 1,800

2) (b 750

7h 7] 210-06 |160,0009 % 17 x 33]= 480

W} %3 210-06 |90,000€ X 17 x 3A|7k= 270

3) 9uE 210-01 | 14,0009 % 31} X 64| 7k= 252

1) $9x 210-01 |50,0009 5% x 23] = 500

5) &23] 230-02 |15,0009 % 127 x 28] = 360

L s R o I A 2,860

1) Am] 210-04 |8,00091 x84 x138]= 672

2) 2l xta 210-07 | 600,000 x 20} x 18] = 1,200

3) A 210-01 |7,000€ x84 x13]= 588

1) $ogE 210-01 |20,0009 X 20% x 18]= 400
79 2,060 2,000 60
71357} 2,060 2,000 60
1. AP F7| AF7ILA 4" 2,060 2,000 60

7h nS5A L3887t 2,060

1) ZHA 7FA € A gk 500

7h A A= 210-01 |5,000€1 x50%-x 23] = 500

2) AA 7191 23] 8- 1,560
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(k9] )
=] =) =] 2N o H
sl j} ?j 3;3 jg Al - AU 20199(A) | 2018d(B) | Z%(A-B)
7h A 210-06 |80,000¢ X 47 x 23]= 640
) #A An] 73 ) 210-06 |20,00091 x4 x 23]= 160
th A1) 210-04 |8,000¢1 X107 x 23]= 160
Zh) $olgE 210-01 |50,0009 X 6% x 28] = 600
TEAAA B3} 11,902 11,824 78
ASPAARAAENL S 11,902 11,824 78
1. NAEA LS 11,242 11,164 78
7h A Sde-9 4,050
1) HLeS/WT 210-01 |250,0009 % 2% x 15]= 500
2) &gt REgAdn] 210-09 |50,00091 x 41t} x 13]= 2,050
3) wS&7H] 210-01 |250,0009 x 23]= 500
4) AAtw S AR E 210-01 |100,0009 x5%& x 13]= 500
5) YAHEE 210-01 |100,0009 5% x 13]= 500
L Arbde] A B 7,192
1) H/WHA B 210-09 |27,389,000€ X 8%= 2,192
2) VES 2] A 430—-01 |1,000,000¢ X 5tf= 5,000
2. F3| o)A FA #E 660 660 0
7h FHjo] A ERIgRIA H| A 210-01 55,0009 x12¢= 660
TSR EL 7| ZEAT 3,340 46,340 243,000
AEPY7 | EERE 3,340 46,340 243,000
1. 715 ERERATS 2,820 45,820 243,000
7y 715247k 9l 8 320
1) ZA 5 210-06 | 80,0009 x 27 x 23] = 320
L 71589 2,300
1) AFF-g 210-01 |25,0009) X 10% < 238]= 500
2) RELE 210-01 |25,00091x10% x 23]= 500
3) AALE 210-01 |25,0009 X 20%= 500
4) A= 430-01 |400,00091 % 27}= 800
I e e ST 200
1) *98% 210-01 |20,0009 x10%*13]= 200
2. 3RINeD 520 520 0
7k AR 8N 93] L
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719 L AR S A S A 9 (k2] : M)
=) =] - o H
ol e ?}Zj 3?.3 fg AbIued E—A5 A& 20199(A) | 2018€(B) | 3HA-B)
1) 2A 5o} 210-06 |80,000¢1 %27 x 23]= 320
2) +ALF 210-01 |20,0009 X 5% x 23]= 200
IR B R o Eatu o= 2,340 2,340 0
iRk 2,340 2,340 0
1. NP A =M 2,340 2,340 0
7F DA 1A 2,340
1) k2] 310-01 |3,0009 %100 x48]= 1,200
2) 44713 210—07 [55,0009) x12¥= 660
3) 909 xE 210-01 |20,000¢ X 6% x43= 480
B3t A & 2t 1,500 1,500 0
HIA 8] A 2 Y B kg 1,500 1,500 0
1. B¢ tin| A F L B el# 200 200 0
7h Aok gt 200
1) *98% 210-01 |20,0009 x10%& % 13]= 200
e bl 1,000 1,000 0
7). A2 A = 210-01 |1,0009 X 200%x 18]= 200
B Ry =ty 210-01 [50,000¢ x62] x13]= 300
o} 98 210-01 |20,0009 X 25% x13]= 500
3. A3 R fHE 300 300 0
7L BER 310-01 [30,0009x10%= 300
o Atz 1,000 1,000 0
Atz 1,000 1,000 0
1. ZEIAGAHRANFR 1,000 1,000 0
7} A=A 2 210-01 [10,0009] X 100%= 1,000
A F-#E 404,865 70,666 334,199
ZeAANNEZ AT 404,865 70,666 334,199
1. = - FFAAEE 10,440 8,440 2,000
7F A L =SS E 210-01 |1,000,0009 X 53] = 5,000
Y. 555 E 210-01 |118,00091%1038]= 1,180
t}, & 2] 3 230—02 |15,0009 X209 x83]= 2,400
o}, B EEn) 250-04 [60,0009 X1 x123]= 720
b TR AL ) 8l L110
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s
o)
3;3 Ape el ERp S Az 20199(A) | 20184 (B) (A-B)
1) 2A 5o} 210-06 |80,000¢1 x4 x235]= 640
2) $99= 210-01 |20,0009 X5% x53]|= 500
2. " A AEE 300,704 3,000 297,704
7}, 3 210—15 |4,700,0009 x 23.= 9,400
U AEAd4 48 420-01 |4,0009%11,126m'= 44,504
of WA EHA 420-03 |246,800,0009= 246,800
3. 2y 30,699 0 30,699
7F 2SSt 620—03 |25,699,000¢1= 25,699
L, F8hw 620—03 |5,000,0009= 5,000
4, TSAAAGFZA 3] 63,022 59,226 3,796
7} A A G A 3] 8] 210-02 ]63,022,0009= 63,022
Bl u)] x) A) 2 3,434,876 2,437,357 997,519
LA u)] x] A) 2 B2 1,980,606 1,797,357 183,249
1. SN X QTR 4,600 8,100 3,500
7}, A A 2 210—-01 |5,0009 X 100%-x43]= 2,000
L}, @ 4=uk 210-01 |50,000¢1 %24 x43]= 400
o} 9o g% 210-01 |20,0009 x10% x238]= 400
2} g9 3 230-02 [15,0009 x12% x 103]= 1,800
2. 2 Ax4 1,805,767 1,663,911 141,856
7). Bt 2t 1,000
1) A (4RD 210-06 | 100,000 x 17 x23]= 200
2) dug 210-01 |10,000€ x 3vll X 2] 7k= 60
3) 7+A1H] 210-04 |3,0009 X407 x 23]= 240
4) $99= 210-01 |50,0009 X 5% 23]|= 500
v AAHAYL AR 210-07 |1,576,617,0009= 1,576,617
o} Eotui -] 80,330
D] 620-03 |26,591,0009= 26,591
2) e 620—03 |53,739,000¢= 53,739
2t QAR AR 147,820
1) x4 620—-01 [14,782,000¢ x 3= 44,346
2) xS 620-01 |14,782,0009 x 7= 103,474
3. SNESHY 170,239 125,346 44,893
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(9] - )

AU e E—ilE ] 20194 (A) 20184 (B) =% (A-B)

7}, 8F<H| 40,140

1) 2181 310-01 |180,0009 X 7% x9¥= 11,340

2) A8hAl 310-01 | 180,000 %16 x10¥= 28,800

L}, eiA e =) g 620—03 | 130,099,000 = 130,099
SR R 1,454,270 640,000 814,270
1. AAFRESALSAA L 1,454,270 640,000 814,270

7} Al sk w ) w g n) R4 1,414,270

1) w7 971,770

7 AR (YA A2 430-01 |300,000,0009 x 11= 300,000

) AR (AR AT 620-03 |199,385,000¢ x 1= 199,385

o) FAFEE YA RS 430-01 |300,000,0009 x 1i1= 300,000

Zh A X (HA XA xSH 620-03 [172,385,0009 x 1= 172,385

2) 5373y 434,500

7hH AR (A5 E xS 62003 |240,900,0009 X 1 1= 240,900

W) A E AR YEE) 620—03 |193,600,000¢ x 151.= 193,600

3) 298 (FnA) 620—-03 |4,000,000¢ X 21.= 8,000

U, E98sty wexg 62003 |40,000,0009 x 1= 40,000
o &) 42,359 35,318 7,041
Z=u) 38-3o] 3] 42,359 35,318 7,041
1. Sw-F 943 5,391 5,384 7

7t stu-g oA 5,391

1) A A= 210-01 [4,9109 x50% % 238]= 491

2) A (dRh 840

b 78 210-06 |160,000¢ %1 x38]= 480

) x3} 210—06 |90,00091 X 17 x 4] 7k= 360

3) 7HAH] 310-01 |3,0009 X160 x 28] = 960

4) e te 210-07 [400,000491 % 2t} x 13]= 800

5) $98% 210-01 |50,0009 X5%x23]= 500

6) o3 230-02 |15,0009 %60 x 23] = 1,800
2. S e sty 2ol 84 31 %) 9 36,968 29,934 7,034

7h SRR A Zo A A 20,189

1) A=A 2 210-01 |3,8309 X 100%-x108]= 3,830

— AW - BHYPU - SR EUFN Lol g — S RRFY @5 Ho] g
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e
i RERE 2% ) 2 -
2] % = = Al 0194 (A) 20184 (B) (A-B)

2) ZdAFr (4R 9,210

7h 718 210-06 |160,0009 %34 x133]= 6,240

W) =3 210-06 |90,000€ x 3% x 11A17k= 2,970

3) ZFAFAl B A 210-06 |70,0009 x 37 x 83]= 1,680

4) s 210—-01 [14,0009] X 3vll X 52A]7k= 2,184

5) £oJ9= 210-01 |20,0009 % 5% x 53] = 500

6) 23 230-02 |15,0009 %13 x33]= 585

7) ) 310-01 |8,00091 %25 x 23]= 400

8) 1+2u] 310-01 |3,0009x60% x 103]= 1,800

L R L R B e s 16,779

D 10,560

7hH AeA = 210-01 |4,0009) X534 x53]= 1,060

W) A3 zp2=ur 210-06 |35,0009 x 217k X 508] = 3,500

15 D e 210-06 |35,0009 x 2417k 508] = 3,500

2h) 7F21n) 310-01 |3,0009 x40 x 43]= 480

o) zpEkelxta 210-07 |500,0009 x 16| x 23] = 1,000

Hp) 9l gE 210-01 |20,000¢] X 7% x 33]= 420

AP ¥ 23 230-02 |15,0009 x40 x 13]= 600

2) AgE71AF3 6,219

7P A=A 2 210-01 |2,4809X500%x2%= 2,480

) A (b 210-06 |100,000¢ % 8% x 13]= 800

th 28] 310-01 |8,000¢l X707 x 23]= 1,120

ZH A AR 210-07 |1,319,0009x 14 x13]= 1,319

) $gE 210-01 |50,0009 X 10% X 13]= 500
NERNEES 425,706 511,684 285,978
A A 425,706 511,684 285,978
1. AAAFY AR Y 425,706 511,684 285,978

7t A A e 418,410

1) 224 210-09 |350,896,0009 = 350,896

2) AT g 210-15 |64,532,0009= 64,532

3) AJA R 420-05 |2,982,0009= 2,982

L 71553 S A A 7,296
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% (9] - )

1=
fg AR E-A 5 AbE ol 20199 (A) | 2018d(B) | Z7(A-B)

1) FA A B 210—15 |608,0009 x129= 7,296
578,984 673,708 £94,724
] 543,484 540,122 3,362
X YHLY 543,484 540,122 3,362
1. 712 F321) 28,860 29,760 A900

7t 7137329 73 v 28,860

D) 71332 A5 g 3% 250-02 |400,00091 % 128= 4,800

2) 7|TL- AR Z=7n] 230-01 |21,000,0009= 21,000

3) ALY FZ=21] 230-01 [30,00091 X102 = 3,060
2. 71324 AN 249,566 272,238 N22,672

7t AR A (LS 1] D 2 5,430

1) 34 430-01 | 1,150,000 x 2th= 2,300

2) ZRIE (Ad) 430-01 |450,0009) x 2t} = 900

3) 78R 430-01 |490,000¢1 % 2tl}= 980

4) A8 2k 430-01 |250,00091 X 5tf|= 1,250

L, Anke-d 7] 12,342

1) A7 ETEE 210-01 |13,0009 x35%x12¢¥= 5,460

2) =X 210—01 |15,0009) x50¢= 750

3) AAFAB /A K 210-01 [50,0009 X 15%& x538]= 3,750

4) AH-AH] 210-01 |19,850¢ x120%-= 2,382

) T QT HAA 58,040

1) dA719= 210-02 [2,330,0009x129= 27,960

2) Ao+ 210-02 |1,450,0009 x 129 = 17,400

3) Qe Y EAIH] 210-02 |400,0009x12¢¥= 4,800

4) A EoF 210—02 [250,000€9x12¢¥= 3,000

5 HAT 210-02 |160,0009 %129 = 1,920

6) EA7IAQF 210-02 |20,0009 x12€9= 240

7) FAANETA QT 210-02 |40,0009 X129 = 480

8) AN AR+ 210-02 [120,0009 x12¢¥= 1,440

9) AARZ=RI 2 210-02 {25,000 %20 = 500

10) n &g 210-02 |300,0009¢= 300

2f, A ) -2 B 6,070

g — 7|29 n] - uS5A G-+ 64/68




AR S L= AEUY 20194 (A)
1) 71&43} 210—13 [110,0009x12¢¥= 1,320
2) Y| 210—13 |50,000¢ x 250 = 1,250
3) ofjo]A 210-13 |50,0009 x5t x 23]= 500
4) A71AAYNAFTE 210—13 [250,0009 x12¢¥= 3,000
v}, Ak 57,150
1) AAIEAUYEH 8- 210-13 |160,0009x12¥= 1,920
2) EHAEA 210-13 |350,000¢ x 23] = 700
3) A7 A e 210-13 |40,0009 <3t x12¥= 1,440
4) oA 2L 210-13 |3,000,0009 X 13]= 3,000
5) AT L= 210-01 [30,000€9 x10% x103]= 3,000
6) =g 210—-09 |1,000,000¢ % 23]= 2,000
7) H 7] E= gH| 210-13 [200,0009] x53]= 1,000
8) HAL&-x 7 210-09 [1,970,80091x129= 23,650
9) ¥|¥n| 210-03 |250,0009) X6 = 1,500
10) A1 18,940
7h 718 110-04 |1,100,0009 X1 x129= 13,200
) g E)H) 240—-02 [400,0009 x19= 400
h WAE 7] 110-04 |500,0009 x 1 x 23]= 1,000
b F2411] 110—-04 |130,0009 %1 x12¥= 1,560
vh B A F 320—12 [1,300,0009 x 1= 1,300
up) ARlAT 320-12 |14,428,0009 % 19 X 4.5%= 649
A AR E 320—12 |14,428,0009 X 11§ X 3.23%= 466
o) A7 %R 320-12 |467,0009) X 1 X 7.38%= 35
ZH 1813 320—12 |14,428,000€9 X 1% X 1.5%= 217
2H A RS 320—-12 [14,428,0009 X 118 X0.783%= 113
nf, PG 20,491
1) th& <58 (30,000kmo]2H) 210-10 |10,443,0009 x 1t)= 10,443
2) W85 (10,000kme]) 210-10 |10,048,0009 x 1t)= 10,048
AR ARTE 7] 42,270
1) #3FH 430-01 |1,150,000¢ x 10t]= 11,500
2) “EE 430-01 |1,300,0009 x 1tl= 1,300
3) EYE 430—-01 |250,000€ X 10th= 2,500
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A& A5 AEgY 2019 (A)
4) ZYE (A4) 430-01 |450,000€ x 4th= 1,800
5) ZHE (A3) 430—-01 |850,000¢ x 3d]= 2,550
6) AAFEAL7) 430-01 |4,950,0009 X 1tj= 4,950
7) FMuA 430-01 |710,0009 x5u)= 3,550
8) W7 430-01 |2,800,000¢1 % 2th= 5,600
9) 71EA3}7] 430-01 |300,0009 x 22th= 6,600
10) &=} 430-01 |320,000€ x 6= 1,920
o}, A2y 40,467
1) Fol7n|g-o 210-13 |180,0009 x 129 = 2,160
2) FATF 9,300
7hH 47 210-06 |50,0009x117= 5,850
) &= 210-06 |50,0009 x69U= 3,450
3) G214 ) 210-15 |500,0009= 500
4) Zn]dlzin] 28,507
7h 7185 110-04 [1,700,0009 %129 x 1= 20,400
) F20n) 110-04 |130,0009x12¥x 1= 1,560
) HAEE 7] 110-04 |500,0009 x 23] x 1= 1,000
2} 2T 110-04 |8,3509 X 133417k x 1= 1111
op) thAlel AN 110-04 |50,1009 X174 x1%= 852
Hp) 93 E 2] 240-02 |400,0009 x 1= 400
AP AR 320-12 |22,281,0009 x3.23% x 1% = 720
op) wolQRET 320-12 |720,00091%7.38% x 1= 54
A 1ELRIFIF 320—12 |22,281,00091x1.5% %1% = 335
ZhH) A RE 5 320-12 |22,281,000§1x0.783% x 1% = 175
7hH A F 320—12 1,900,000 x 14 = 1,900
Af. BARA 1,000
1) 21 E3YA} 210-01 |20,0009 x10% *x53]= 1,000
IS A-T0F JAS 210-01 |20,000¢1x3% x 103]= 600
7t AR A (B2 7 A D 5,706
1) AFE (EA) 430-01 |900,000¢ x 2= 1,800
2) AFE (RYE) 430-01 {250,000 x 2th= 500
3) 2x3f 430-01 | 156,000 x 6t]= 936
s - 5 Hedn] - 1S5 AHeY 66/68




Apeiued LCREpY RoA A=) 20194 (A)

1) 3 430-01 |137,0009) x 2t)= 27
5) B} 430—-01 |156,0009) x 2t]= 312
6) THE|A 430-01 |188,50091 % 10th= 1,884
3. A 7122973 265,058
). w25} 80,044
1) dukE-gn 10,352
7P B 210-01 |1,200,0009= 1,200
Wb A 210-01 |416,0009)x 221 = 9,152
2) Eu) ) 210-05 |8,000¢1 %227 x 423]= 7,392
3) o] 56,540
7h) ) 220—01 |20,00091 % 221 x503]= 22,000
) =4 220-01 |40,0009] X221 x 345]= 29,920
th %9 220-01 |70,00091 %227 x 38| = 4,620
4) FAE G TN 4960
7P B 230-01 |350,00091 % 129= 4,200
Lp) =7 230-01 |5,0009x6% x12¢= 360
5) A WF T 3710 250-02 |100,000¢9x129= 1,200
. @78 et 120,782
1) dxkgn| 18,256
7 By 210-01 |1,200,000¢1= 1,200
) el 210-01 |416,000¢1x41%8= 17,056
2) Eujaln) 210-05 |8,00091x 417 x273]= 8.856
3) o] 75,850
7h T 220-01 | 20,0009 %4173 x403]= 32,800
) T 220—01 |40,0009 %417 x218]= 34,440
o =9 220—01 | 70,0009 X417 x 38]= 8,610
4) HA &GN +980
7h) Bk 230-01 |350,0009x128= 4,200
) =715 230-01 |5,00091x13% x12¢9= 780
5) A WF R3] 250-02 |100,000¢1x129= 1,200
6) 5744573 11,640
7h A e 25003 |80,000¢1 %37 x129= 2,880
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At e E—ilE A=) 20194 (A) 20184 (B)

LR = e 250-03 | 150,000 x 3 x 129 = 5,400
) =g i) 250-03 |100,00091 % 1% x 12¢= 1,200
oh) AT 250-03 | 60,0009 X3 x129= 2,160
o} A7 64,232
1) YRk-n 7,024
7 By 210-01 |1,200,0009= 1,200
) il 210—01 |416,0009 %149 = 5,824
2) ELujAlH) 210-05 |8,0009 %147 x448]= 4,928
3) on] 43,040
7hH I 220—01 |20,0009 X 16™ x743]= 23,680
W T 220—01 [40,0009 x16™ x253]= 16,000
th =9 220-01 {70,000 <16 x33|= 3,360
4) FAGdFF50] 230-01 |350,0009 x 129 = 4,200
5) AAGFAF-F71] 250-02 |100,00091x12¥= 1,200
6) 5745730l 3,840
7h SuRA (AP RT) ddag 250-03 |80,0009 X1 x12¢= 960
W SR (LG Re) g | 250-03 60,0009 %18 x129= 720
h A () G 250-03 |60,0009 x3% x12¥= 2,160

35,500 133,586

JA| A HE 35,500 133,586

1. ZHA P 35,500 133,586
7h AR o) A g Al E s vl 35,500
1) +5ZAA~T3 420-03 |354,000¢€ X 90m'= 31,860
2) TSR 420-03 |7,0009%520m'= 3,640

o] — LEPFVEANE - ALY H T
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